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Print ResponseSheet

KVS DIRECT RECRUITMENT EXAMINATIONS

(Candidate Response Sheet)

Roll Number

Name of the Candidate

Examination Name KVS PRT 28 FEB SH2

Exam Date & Time 28-02-2023 03:00:00

Subject : GE_Q01-Q10_PRT28FEBSH2

Question ID:- 1

Rearrange the parts in correct order to make a meaningful sentence.
a) his tragic end
b) and this leads to
¢) on what to do

(a) (b)
(d) (c
(c

=N

(
(
(
(d) Hamlet is unable to take a decision
(
(
(
(

Options:-

.1, Option ID :- 1,
. 2, Option ID :- 2,
. 3, Option ID :- 3,

. 4, Option ID :- 4,
Answer Given:- 2, Option ID : -2

Question ID:- 2

Change the following sentence from Active Voice to Passive Voice.
They will start the journey at midnight.
(1) The journey at midnight will be started by them.

(2) At midnight, the journey was started by them.
(3) The journey will be started by them at midnight.
(4) The journey at midnight was started by them.

Options:-

.1, Option ID :- 5,
. 2, Option ID :- 6,
. 3, Option ID :- 7,

. 4, Option ID :- 8,
Answer Given:- 3, Option ID : -7

Question ID:- 3
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Fill in the blank with the correct preposition.

I am tired walking endlessly.
(1) with
(2) of
(3) from
(4) off
Options:-

.1, Option ID :- 9,
« 2, Option ID :- 10,
. 3, Option ID :- 11,

. 4, Option ID :- 12,
Answer Given:- 2, Option ID : -10

Question ID:- 4

Choose the correct tense form of the underlined expression from the given options.

He shall have finished the assignment before I meet him.

(1)  Future Indefinite
(2) Future Continuous
(3) Future Perfect

(

4)  Future Perfect Continuous

Options:-

.1, Option ID :- 13,
. 2, Option ID :- 14,
. 3, Option ID :- 15,

. 4, Option ID :- 16,
Answer Given:- 3, Option ID : -15

Question ID:- 5

Change the following sentence from Direct Speech to Indirect Speech.
The priest said, “We are all sinners.’

(1) The priest said that we are all sinners.

(2) The priest said that we were all sinners.

(3) That we were all sinners the priest said.

(4) The priest said that we have all been sinners.
Options:-

.1, Option ID :- 17,

« 2, Option ID :- 18,

. 3, Option ID :- 19,

. 4, Option ID :- 20,
Answer Given:- 2, Option ID : -18

Question ID:- 6
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Identify the part which contains an error.
The little girl / can swim / comfortably/, isn't it ?
(1) (2) (3) (4)

Options:-

.1, Option ID :- 21,
« 2, Option ID :- 22,
. 3, Option ID :- 23,

. 4, Option ID :- 24,
Answer Given:- 4, Option ID : -24

Question ID:- 7

Choose the word nearest in meaning to the given word.
LIBERAL

(1) broad-minded

(2) conservative

(3) hopeful

(4) decent
Options:-

.1, Option ID :- 25,
« 2, Option ID :- 26,
. 3, Option ID :- 27,

. 4, Option ID :- 28,
Answer Given:- 1, Option ID : -25

Question ID:- 8

Choose the word opposite in meaning to the given word.
DEARTH

(1) extravagance

(2) richness
(3) grandeur
(4) plenty
Options:-

.1, Option ID :- 29,

« 2, Option ID :- 30,
. 3, Option ID :- 31,

. 4, Option ID :- 32,
Answer Given:- 4, Option ID : -32

Question ID:- 9
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Identify the part of speech of the underlined word.

You won't have permission to go there unless you have a valid permit for that :

(1) Preposition

(2) Conjunction

(3) Adverb

(4) Interjection
Options:-

.1, Option ID :- 33,
« 2, Option ID :- 34,
« 3, Option ID :- 35,

« 4, Option ID :- 36,
Answer Given:- 2, Option ID : -34

Question ID:- 10

Identify the underlined clause in the given sentence.

They lay down when they had finished their work.

(1) Noun Clause

(2) Adjective Clause

(3) Adverb Clause

(4) Principal Clause
Options:-

.1, Option ID :- 37,
« 2, Option ID :- 38,
. 3, Option ID :- 39,

- 4, Option ID :- 40,
Answer Given:- 2, Option ID : -38

Subject : GH_Q11-Q20_PRT28FEBSH2

Question ID:- 11

Freaferfaa Teryr #r saryde gt SAUT eia W9 ST Welsh IuT gy |

L o SAfoiea | fodl acll &1 559 o | Tk 912 21 9 55 ot 9 oik oo™ of | 5a 3 9 )
Tee o | e SR TS guReE 9 SR wEe & faf ot | wehar 3o e el 3ueves o 8 | SR
T g TH-HHGH el Ferdl A1 | W AT S9N Al 379 i hauel T+ | 79 1 STHYE &l & | 61
e femansti & FHR FHEASH ST §HA & Gl | ST TIH W § |

T & Al § T 91
(1) fagda fo=md =

(2) G faed fe=md &1
(3) Teriedt ol

(4) Tored ggfaai 1

Options:-
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.1, Option ID :- 41,
« 2, Option ID :- 42,
. 3, Option ID :- 43,

« 4, Option ID :- 44,
Answer Given:- 3, Option ID : -43

Question ID:- 12

Treafefaa Tenyr it saTTgees TgeRt SHAT ML W9 T Weleh Sa g |
ey o Aferical H Tauret acdl 1§09 o1 | Ueh Wi 21 9 &g off 9 oiR guem off | Had ot 9 9 &iR

Tewy off | g oK guTS guRe 9 3R g & fafi= o o whar S e el 39evies of 8 | SR

W S UH-HHE T et o1 | W S SN A 3 ] FHaALgell FgA T 76 H SN F & | TR

[ ferierdiedi <5 01 e 97 H99 F Gl § T €6 T § |

el & oL H HEl HUA T € -

(1) e 39T 9 |

(2) AR Ffg 91

(3) I YA U GEISH =A™ |

(4) AR THS GHRE o |

Options:-

.1, Option ID :- 45,
« 2, Option ID :- 46,
« 3, Option ID :- 47,

. 4, Option ID :- 48,
Answer Given:- 3, Option ID : -47

Question ID:- 13

FrAfafaa Ty &t syde Ugeht SHUT ST W9H ot Wt IaT ST |

Fe1 o Afertea § faiedt aeal &1 aoag o | Tk e §1 4 feg oft 9 ol goemm off | ga off 3 2 s
ey off | 3 Hfa SR qHS URE & 1 g1 o fafie= o & wwan Seq=1 e 9Tl 39 off 9 | 3R
@ T H-TEIEHE el Je °1 | R SIS SR SAT ST Tl eyl e H e 1 SHYd H § | 3
e favaredi o R0 HAeH AT TR & Hai § AT TH @ 2 |

Fee A fr=fafad o | 7@ o
(1) 49 GYR

(2) e M e

(3) Hdif=d =HaER

(4) g5 TER

Options:-

.1, Option ID :- 49,
« 2, Option ID :- 50,
. 3, Option ID :- 51,

. 4, Option ID :- 52,
Answer Given:- 4, Option ID : -52
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Question ID:- 14

‘g B HH &' AT % it v H e €

(1) kel

(2) RO

(3) Hay

(4)  SfeERTO
Options:-

.1, Option ID :- 53,
« 2, Option ID :- 54,
. 3, Option ID :- 55,

« 4, Option ID :- 56,
Answer Given:- 3, Option ID : -55

Question ID:- 15

T o SR TR STEHTT 9es I §

(1) Termedf - fornedi=i

(2)  TEERT - e
(3) wAH - FHAH
(4) ©S-HS
Options:-

.1, Option ID :- 57,
« 2, Option ID :- 58,
. 3, Option ID :- 59,

. 4, Option ID :- 60,
Answer Given:- 1, Option ID : -57

Question ID:- 16

‘e’ v o qAiHETET IS T ©
(1) we

(2) 9

(3) wfeH

4 =

Options:-

.1, Option ID :- 61,
« 2, Option ID :- 62,
. 3, Option ID :- 63,

« 4, Option ID :- 64,
Answer Given:- 3, Option ID : -63

Question ID:- 17
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(1) Ffed - H&s

A 1

(3) ffad - gd

(4) 9 - i
Options:-

.1, Option ID :- 65,
« 2, Option ID :- 66,
. 3, Option ID :- 67,

. 4, Option ID :- 68,
Answer Given:- 1, Option ID : -65

oot faeimed v 7 & srma # -

Question ID:- 18

ot 3 ST9R W ST v g R
(1) A - drd

(2) fogm - fag

(3) FA - o

(4) - g

Options:-

.1, Option ID :- 69,
« 2, Option ID :- 70,
. 3, Option ID :- 71,

. 4, Option ID :- 72,
Answer Given:- 4, Option ID : -72

Question ID:- 19

(1) @l 1T @

(2) SRS

(3) Torelt =1 weER 7 E

(4)  To8TdT 1 SRR KTl
Options:-

.1, Option ID :- 73,
. 2, Option ID :- 74,
. 3, Option ID :- 75,

« 4, Option ID :- 76,
Answer Given:- 1, Option ID : -73

‘T H T e ' R 1 T2 o1 §

Question ID:- 20
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“FSE=R! ST AT o1, 9% SR T © | - S o (it wes H Wl €

(1) Hauaras

O IREECICED

(3) qEHEEH

(4) FeggarEs
Options:-

.1, Option ID :- 77,
. 2, Option ID :- 78,
. 3, Option ID :- 79,

. 4, Option ID :- 80,
Answer Given:- 1, Option ID : -77

Subject : GA_Q21-Q30_PRT28FEBSH2

Question ID:- 21

Who won the Rashtrita Khel Protsahan Puraskar 2022 under the category ‘Encouragement to
Sports through Corporate Social Responsibility” ?

(1) India Infrastructure Finance Company Limited

2) Coal India

3) Kalinga Institute of Industrial Technology
4) Odisha Industrial Infrastructure Development corporation

(
(
(

‘RO IS S & AT W Sl & ieare 41 S ST e We greareT IR, 2022 R
St ?

(1) e SwrgeH=R wigTd Al fafies

(2) @ e

(3) wfeim FEige A Sefiga e

(4) aNfen defigad ShgH= SaeqHe HITIEH

Options:-

.1, Option ID :- 81,
. 2, Option ID :- 82,
. 3, Option ID :- 83,

. 4, Option ID :- 84,
Answer Given:- 2, Option ID : -82

Question ID:- 22

Which feature film was awarded the ‘Best Feature Film' in the 68th National Film Awards, 2020 ?
(1) Soorarai Pottru

(2) Sivaranjaniyum Innum Sila Pengallum

(3) Thinkalazcha Nishchayam
(4)

4) AK Ayyappanum Koshiyum
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68 9 T Ther JERR, 2020 § 'He 9 w= fhen’ o1 gunr fohee Sifar ?
() HE dEE

(2) THarsnfH == faen dmedy

(3) TemetrsT=n fe=am

(4) T SFATHH HIETH

Options:-

.1, Option ID :- 85,
. 2, Option ID :- 86,
. 3, Option ID :- 87,

. 4, Option ID :- 88,
Answer Given:- 1, Option ID : -85

Question ID:- 23

Consider the following statements regarding the legendary athlete P T Usha and identify the
incorrect statement/s.

(A) She has been elected as the Pesident of Indian Olympic Association.

(B) She was elected unopposed as the President of Indian Olympic Association.

(C) She is the second woman to occupy the post of the President of Indian Olympic Association
(D) She is a member of Rajya Sabha.

Select the right answer using the code given below

(1) (A), (B) and (D) only
(2 (A), (C) and (D) only
(3)  (A), (B) and (C) only
(4)  (A) and (B) only

TR THER 9 A U F Ha9 § fAefafEa Fuet W faEn ey ot o/ wYE # ugE S
(A) 3% IR STaftas 9 &1 seas 99 T

(B) = fAfely vRd™ siiafiaes w1 =1 1eaa faifaa T w8

(C) & uRdrg eirerfoass o = 21eas) Ug 9 i arelt gadt ufgen €1

(D) o T+ 991 H e £

ﬂ%mmaﬁ@aﬂmmgﬂ@maﬂwaﬁm:

(1) 9 (A), (B) 3T (D)

(2) *ad (A), (O) 3 (D)
(3) e (A) ()aih(C)
(4) FEE (A) I (B)
Options:-

.1, Option ID :- 89,
« 2, Option ID :- 90,
. 3, Option ID :- 91,
. 4, Option ID :- 92,
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Answer Given:- 1, Option ID : -89

Question ID:- 24

Which book/Title was awarded the Bal Sahitya Puraskar 2022 in Bodo Language by the Sahitya
Akademi ?

(1) Langwnani Bokhall Gotho

(2)  Abau Abwyni Solo

(3) Gosaini Gwjwn Nwjwr
(4) Solo Bathani Zolonga

Hifecd STRIEHT 1 are! 9T § =7e Wifec TR, 2022 fora q&e/3iids =1 wem fwan 72
(1) TEAHE FrEme M

(2) TS SFAH Hidl

(3) T TErSTE Faway

(4)  HIA S SAT

)
)

Options:-

.1, Option ID :- 93,
« 2, Option ID :- 94,
. 3, Option ID :- 95,

- 4, Option ID :- 96,
Answer Given:- 2, Option ID : -94

Question ID:- 25

Who won the Presidential election in Brazil which was held in October 2022 ?
(1) Luiz Inacio Lula da Silva

(2) Dilma Rouseff

(3) Gustavo Bebianno

(4)  Jair Bolsonaro

STERJER, 2022 H SISl H g U & FA1d H ohid ol @12

(1) o3 g oen €t faean
(2) Teom T=EE
(3) I Sl
(4) ST SRR
Options:-

.1, Option ID :- 97,
« 2, Option ID :- 98,
. 3, Option ID :- 99,

- 4, Option ID :- 100,
Answer Given:- 1, Option ID : -97
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Question ID:- 26

In propounding the ‘Newlands’ law of Octaves’, John Newlands derived the Idea of Octaves from
where ?

(1) Ocean
(2) Music
(3) Economy
(4) Thunder

‘Sreied @ SATE sifaesr’ &l UEqd d 999 SiH-=geied & sieesd &1 faur fead faen ?

(1) WHEMFRH

(2) HiEd

(3) srefeETan §

(4) TSHE
Options:-

.1, Option ID :- 101,
« 2, Option ID :- 102,
« 3, Option ID :- 103,

. 4, Option ID :- 104,
Answer Given:- 1, Option ID : -101

Question ID:- 27

The Political Symbol of the “Winged Woman” during French Revolution conveyed which of the
following ?

(1) Personification of the law
2) Enlightenment

3) Symbol of eternity

4)  Colours of France

(
(
(

TRIEE Shifd % SN CdEaren dfeen’ (e g8m) o1 wefas o freafafea § 9 forae wde ar?
(1) A T AT

(2) FHRH

(3) ¥mEdE

(4) WEF =S
Options:-

.1, Option ID :- 105,
« 2, Option ID :- 106,
« 3, Option ID :- 107,

. 4, Option ID :- 108,
Answer Given:- 3, Option ID : -107

Question ID:- 28
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Election in India for the post of the Vice-President is held in accordance with which of the
following ?

(1) System of Alternate Voting
(2) System of Proportional Representation
(3)

(

4)  Two Round System

First Past the Post system

IRd § I9-Tpufa ug % fore fratem frefafe § 9 fras srar fmn s &2
(1) depfeqss AaeH T&fa

(2) sufas wfaffae Tgfa
(3) T =gHd Ygfd (FE U fg U faem)
(4) fg—=oira wgfa

Options:-

.1, Option ID :- 109,
. 2, Option ID :- 110,
. 3, Option ID :- 111,

. 4, Option ID :- 112,
Answer Given:- 2, Option ID : -110

Question ID:- 29

Which of the following Union Territories in India has the highest percentage of population living
in households that use improved sanitation facility according to the National Family Health Survey
2019 - 2021 ?

(1) Lakshadweep
2) Chandigarh
3) Puducherry

(
(
(4) Andaman and Nicobar

TS URER Tres TEam 2019-21 F SER YR F 0 99 169 43 % 90 8§ 7 9relt e gRT 390
TEdl AUl & TAN KT FH Y9 aiieeh ¢ ?

(1) =B

(2 w<rTe

(3) I

(4) sieaA AR @R
Options:-

.1, Option ID :- 113,

. 2, Option ID :- 114,

. 3, Option ID :- 115,

. 4, Option ID :- 116,
Answer Given:- 1, Option ID : -113
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Question ID:- 30

Which among the following is a Rabi Crop ?
(1) Mustard

(2) Maize
(3) Cotton
(4) Paddy
Frfafas § | =6 9 & # 0% wEe 2 2
(1) HHi
(2) HeRI
(3) =HUH
(4 HH
Options:-

.1, Option ID :- 117,
« 2, Option ID :- 118,
« 3, Option ID :- 119,

. 4, Option ID :- 120,
Answer Given:- 1, Option ID : -117

Subject : RA _Q31-Q35_PRT28FEBSH2

Question ID:- 31

How many pairs of consecutive numbers are there in the following number sequence each of
which is in ascending order (Like 1,2) ?

76 7 8 6 756 87 7865456 34
(D)

2 hJ
L s TR B = I & 1

(2)
(3)
(4)

Frefafes e %9 4 U8 fadd Jen-g § 598 | yosh w9 A8 #H 0 € (59 1,2) ?
7 6786756877865 45634
1

7
5
2) 6
3 7
8

i
Nt St Nt

(
(
(
(

Options:-

.1, Option ID :- 121,
. 2, Option ID :- 122,
« 3, Option ID :- 123,

. 4, Option ID :- 124,
Answer Given:- 4, Option ID : -124
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Question ID:- 32

Eight birds Z, Y, X, W, V, U, T and S are sitting on the corners of octagonal fencing, facing
towards the centre. 'Y’ is sitting between “T" and “W’. ‘S’ is third to the left of Y’ and second to the
right of ‘Z’'. ‘X" is between ‘Z’ and “T" . ‘Y’ and V' are not sitting opposite to each other. Who is
second to the left of V ?

(1) S
2) U
3) X
4) Z

FS U Z, Y, X, W, V, U, T3 S T 3=y o frTil W 3HF 2 &l AL HE HF A3 g &1 Y, T
S W & d19 821 B °S, Y o STt SR e T T a2 % SRl TR gE M W AR € 1 X, 27 a9
T F A H S E 1Y SRV IF T g W T FE A8 €1 Vv aEf @R gE T R §a
272

1 s
20 U
3 X
(4 Z

Options:-

.1, Option ID :- 125,
« 2, Option ID :- 126,
. 3, Option ID :- 127,

. 4, Option ID :- 128,
Answer Given:- 2, Option ID : -126

Question ID:- 33

A man walks 10 metres towards west and turns to right, walks 8 metres and turns to left, walks 7
metres and turns to right, walks 5 metres. He then turns to right, walks 20 metres and finally turns
to right and walks 3 metres. In which direction is he facing now ?

(1) East
(2) West
(3) South
(4) North
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e AT 9feEd F SR 10 Hiex Fom © SR SR SR gHe 8 Hied et € 2R R ardf SR geet 7 /e
T & SR R S S et 5 Hiew =era 81 R 9% gl oI gee § iR 20 Hiex S § a9 o 1 <
3R T € oIR 3 e g ¥ 1 219 3Hen He fa feon | &2

(1 @

(2) ufE=H

(3) =&

(4) SW
Options:-

.1, Option ID :- 129,
« 2, Option ID :- 130,
. 3, Option ID :- 131,

. 4, Option ID :- 132,
Answer Given:- 1, Option ID : -129

Question ID:- 34

Given below is a question followed by two statements numbered I and II each containing some
information. Decide which of the statement(s) is /are sufficient to answer the question.

Q : What is the rank of Raju from the top in a class of 30 students ?
Statement I : Raju’s rank from the top is two ranks below Jatin who ranks 27t from the bottom.
Statement II : Raju ranks four ranks above meenu who ranks 215 from the bottom.

(1) The statement I alone is sufficient to answer the question while the statement II alone is not
sufficient.

(2) The statement II alone is sufficient to answer the question while the statement I alone is not
sufficient.

(3) Either statement I or statement II alone are sufficient to answer the question.
(4) Both statements I and II together are necessary to answer the question.

e wh we fem T § fowes e &1 s 18R 11 feu o € e € weds § e Srerd & T R o
faut Fhifere foF feu o wem | = 91/ RYs 999 &1 ST SF F fow gatE &/ )
Q: 30 BT =i N H U] H W H S T T2

HAT] : T A TR Y TF AT 2 TH 4 ¢ Formem = @ 27 9 w0 7
HF 11 : TS 1 TH T T FR- T SR ¢ fomen 4= F 21 9 = T

(1) RYUF I 3Tl Y97 1 ST o1 & [T TAT © STafeh e 11 3Fhat A< T8l ¢
(2) A II 3Tt J9 I S o7 & e vt € Safeh sher 1 sishel JaTd 8l €1
(3) R I HUEl Y 11 Fhed U ol I &4 & oI 7o g1

(4) HYA I 3R 11 frers 99 &1 3 &7 & foru stmawas €1

Options:-

.1, Option ID :- 133,

. 2, Option ID :- 134,

. 3, Option ID :- 135,

« 4, Option ID :- 136,
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Answer Given:- 3, Option ID : -135

Question ID:- 35

In the diagram given below, square represents married, circle represents educated, triangle
represents men and rectangle represents dancers.

8
4
7 } 11
- \
12 3X 16
14 S

/ 5\

How many educated unmarried men are there who are not dancers ?

(1) 3
2) 4
3 6
(4 8

e feu o st H, =i faenfedt @1, g9 fafewdi @, fys geel =61 9o g wdwl @ gfaffe & )

- Xlﬁ
/a

TR e ot siferarea gew ¥ S e 7 ¥

(1) 3
(2) 4
(3) 6
(4) 8
Options:-

.1, Option ID :- 137,
« 2, Option ID :- 138,
« 3, Option ID :- 139,

. 4, Option ID :- 140,
Answer Given:- 3, Option ID : -139

Subject : CL_Q36-Q40_PRT28FEBSH2

Question ID:- 36
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Which of the following devices is not used as an output device ?

(1) Printer
(2) Mouse
(3) Monitor
(4) Speaker

fr=fafead | 4 forg feara #1 ©F aeeye feary (output device) & &9 | WA 781 o i 2 2
(1) foex

(2) H=E

(3) WX

(4) TR
Options:-

.1, Option ID :- 141,
« 2, Option ID :- 142,
. 3, Option ID :- 143,

. 4, Option ID :- 144,
Answer Given:- 2, Option ID : -142

Question ID:- 37

Which of the following is popular example of web browsers ?
(1) Microsoft Edge

(2) Microsoft Office

(3) Microsoft Teams

(4)  Microsoft Outlook

Frefafea 5 9 99 s (Web browser) hl R ITT ISR
(1) HEHER T

(2) WEHRER HATHE

(3) HEShIETR I

(4) HEHER TEIAF
Options:-

.1, Option ID :- 145,
« 2, Option ID :- 146,
« 3, Option ID :- 147,

. 4, Option ID :- 148,
Answer Given:- 1, Option ID : -145

Question ID:- 38
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Which of the following is not usually a source of the viruses entering your system ?

(1) Pen drive

2)  Microphone

3) Email attachments

4) Downloaded free software

(
(
(

frefafed § 9 9dr 9T 3 fawen # 9™ {59 S § ya9 781 o & ?

(1) o7 g

(2) HESHIEA

(3) - steHH

(4) BRAANSE Wl HHRETI

Options:-

.1, Option ID :- 149,
« 2, Option ID :- 150,
. 3, Option ID :- 151,

. 4, Option ID :- 152,
Answer Given:- 2, Option ID : -150

Question ID:- 39

Which type of computer network is generally configured when two buildings of a school, located
within same campus, are connected together using optical fibre to share some data ?

(1) Personal Area Network

(2) Local Area Network

(3) Metropolitan Area Network
(4) Wide Area Network

e U 9 o o ol fammed & &1 9ad] &1 9 S 95 S o fau SAifese wEa & Y90 Hih
a9 H #hee foman S € o ST W fHy YRR % e Headh ol HE0v] feen S § 7

(1) 95 i 2eh

(2) wka i@ A2k

(3) WErifere ufen Heas
(4) @rEE TR qeEeh

Options:-

.1, Option ID :- 153,
. 2, Option ID :- 154,
. 3, Option ID :- 155,

« 4, Option ID :- 156,
Answer Given:- 1, Option ID : -153

Question ID:- 40
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In the browsing protocol https, s stands for ?
(1) Secure

(2) System

(3) Services

(4) Software

ST Ueishie https H ‘s’ 319 ©

(1) fawR
(2) TaEeH
(3) wfeEs
(4) HiFETR
Options:-

.1, Option ID :- 157,
. 2, Option ID :- 158,
. 3, Option ID :- 159,

. 4, Option ID :- 160,
Answer Given:- 1, Option ID : -157

Subject : UL_Q41-Q55_PRT28FEBSH2
Question ID:- 41

Which one of the following statements is incorrect ?

(1) Growth is a broader term than development.

(2) Development is a broader term than growth.

(3) Growth refers to quantitative changes.

(4) Development refers to qualitative changes as well.

Frifera § | I | HUF o § 2

(1) 3fg famma =t sen siftrs =1 W8 ¥

(2) fowma gfg #t gan o afus = ug 7
(3) s =1 I A e 9 R

(4) o =1 aqd o 9REEAl 9 of §

Options:-

.1, Option ID :- 161,
. 2, Option ID :- 162,
. 3, Option ID :- 163,

. 4, Option ID :- 164,
Answer Given:- 1, Option ID : -161

Question ID:- 42
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Which of the following is correct ?
At the time of birth an infants head happens to be

1
D 3
1
I
1
® 3
1
#® 3
Treiferd § & o 91 %9 HE1 8 2
S o uE o 1 T S F derE
1
3
1
) —
1
® 3
1
4 3
Options:-

.1, Option ID :- 165,
« 2, Option ID :- 166,
. 3, Option ID :- 167,

« 4, Option ID :- 168,
Answer Given:- 2, Option ID : -166

of his/her total length.

BT 2

Question ID:- 43

Read the following :

()
(b)
(©)

Child is acquiring simple basic language skills.

Child can control overt expression of emotions.

At which stage of development the child is ?

(1)
(2)
(3)
(4)

Infancy

Early childhood
Later childhood
Adolescence

Child is learning to give up the ‘I’ feeling and develop the ‘we’ feeling.
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Freifera =1 wfgu

(a) @TeTh XA AR 9T Hive Afid @ 2

(b) @ik S8’ 1 e W BRI W fasfea o @ )
(c) e Fa 1 Yehe sAferfaa o1 Frifa o w1
I % YR W A 5 et T & forg = 8 272

(1)  dremEreE

(2) SR T hicd

(3) HYEl Aed e

(4)  TeremEEen
Options:-

.1, Option ID :- 169,
« 2, Option ID :- 170,
. 3, Option ID :- 171,

. 4, Option ID :- 172,
Answer Given:- 3, Option ID : -171

Question ID:- 44

Which of the following statements is not true ?
Adolescents :

(1) Desire and achieve socially responsible behaviour.

Options:-

.1, Option ID :- 173,
. 2, Option ID :- 174,
. 3, Option ID :- 175,

. 4, Option ID :- 176,
Answer Given:- 2, Option ID : -174

(2) Look forward to marriage and family life,

(3) Seek new relations with age mates of opposite sex only.

(4) Try to achieve assurance of econemic independence.

freifera § & 9 9 Fu 9 TE 8 2

feretre -

(1) HESEH T H ST HR2R i 3291 TEd § 3R 9 39 9 Ld €|

(2) foeme &R mienfr siem 1 =r @ 8 ot Saqwar Yo o Taiel #d ¢ |
(3) o fauda fotit o0 97 = % =afedi & @y T Hey 99 96d © |

(4) TS T 1 SMIATH 9T FH H1 FIS F 2

Question ID:- 45
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Which one of the following does not belong to “formal operational stage” ?
(1) Inductive thinking

(2) Hypothetical - Deductive thinking

(3) Inter propositional logic

(4) Interactive thinking

freifera § 9 =0 * sly=nfies Gfspareges saeen’ § gefud 78 € 7
(1) SArHATHS feia

(2) AReTHARHE — FEATeHs e

(3) 3id: TehaTsAITH ok

(4) oa: forarerer feiaq

Options:-

.1, Option ID :- 177,
. 2, Option ID :- 178,
. 3, Option ID :- 179,

. 4, Option ID :- 180,
Answer Given:- 1, Option ID : -177

Question ID:- 46

At which age group children develop recognition of needs and desires of other children ?
(1) From 5 to 8 years

(2) From 9 to 11 years

(3) From 12 to 14 years

(4) After 14 years

o 59 o7 O arcAs] § o1 Seeh] &1 eragIesarell 2R el 1 e &1 9g fawfad g g ?
(1) 54 8=

(2) 9911y

(3) 12914734

(4) 14 99 &% 91Q
Options:-

.1, Option ID :- 181,
« 2, Option ID :- 182,
« 3, Option ID :- 183,

. 4, Option ID :- 184,
Answer Given:- 4, Option ID : -184

Question ID:- 47
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At which stage of character development, internal self criticism occurs ?
(I) Amoral stage

(2) Self centred stage

(3) Conforming, conventional stage
(

4) Irrational conscientious stage

=1fifres fasr & forg =01 § s192iafier 31eq e &1 9 fasfad g €2

(1)  3Tifcer =0 |

(2) 3H higd sraken §

(3) I WU el H

(4) TSR] AT i STeEen H

Options:-

.1, Option ID :- 185,
« 2, Option ID :- 186,
. 3, Option ID :- 187,

. 4, Option ID :- 188,
Answer Given:- 4, Option ID : -188

Question ID:- 48

Complete the sentence :
“Emotions are caught and not taught’ Therefore, teachers should

(1) refrain from providing any guidance in the matter.

(2) puttheir own example before the children for the refined emotional expressions and behaviour.
(3) seek parents’ involvement in training children for right kind of emotional behaviour.

(4) enforce strict discipline.

Treifera are &1 g i

‘i =1 TEw feman ST & SR ST A S ¥, oTud SeArdeh &

(1) 39 9@ fHEl TR 1 i S 9 9Es T =9 |

(2) uftsrd HermeTs At 3R HaeR + fu 3% araeh o JHe = 1 IREV YKH HE A

(3) EARI H FEIEH G EeR UEYd %A o faiu skl ol Wiefard e o for wmen-foedn =1
e s =1fen |

(4) TSR STNTEA AN] AT HMMLY |

Options:-

.1, Option ID :- 189,

« 2, Option ID :- 190,

. 3, Option ID :- 191,

« 4, Option ID :- 192,
Answer Given:- 2, Option ID : -190
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Question ID:- 49

(1) Peers

(2) Siblings

(3) Family

(4) Pre schooling

(1) wHFEE e

(2) SR E/EEA

(3) UfEw

(4) T H gow 9 gd A (i-Ehie)
Options:-

.1, Option ID :- 193,
« 2, Option ID :- 194,
. 3, Option ID :- 195,

. 4, Option ID :- 196,
Answer Given:- 3, Option ID : -195

Which one of the following is the most important primary agency for socialization of a child ?

A ok HHETSR & fau feifed § 9 2 geifus eyl ik €2

Question ID:- 50

Orderly changes unfold from within in
(1) Maturity

(2) Growth

(3) Development

(4) Evolution

g ey feifra § & fras it 33d 2 €2
(1)  aftgeE

2 dfs

©IREEIS!

(4) Ifamm™
Options:-

.1, Option ID :- 197,
. 2, Option ID :- 198,
. 3, Option ID :- 199,

- 4, Option ID :- 200,
Answer Given:- 3, Option ID : -199

Question ID:- 51

@ Teachingninja.in



Which one of the following statements is correct ?

(1) Creativity test gives more weightage to novelty and originality.
(2) Intelligence tests emphasize fluency and flexibility.

(3) Creativity tests are measures of accuracy.

(4) Intelligence tests also test creative abilities.

Frifera § 9 =9 o1 9 T © 2

(1) GoHTcHS SHA Tha | Feiar iR wifersrar =1 sifues 9w fean s #1
2) dfg wlevl § e 3R =i s T SR fgan S

3)  gevierd g gfeelsen 1 "9 2 |

4)  dfg Fhe H§ gerrers draarsi ® o s fE S g

(
(
(

Options:-

.1, Option ID :- 201,
. 2, Option ID :- 202,
. 3, Option ID :- 203,

. 4, Option ID :- 204,
Answer Given:- 1, Option ID : -201

Question ID:- 52

Individual behaviour happens to be an outcome of the individual :
(1) acquired traits

(2) Dbiological endowment

(3) social and physical environments

(4) effort for crisis management

e Iger =l & g = =1 aftony gar &2
(1) i aeqm

(2) s HfiEE

(3) HHISR SR Hifdes araE

(4) HehI-YaUH 1 GAH

Options:-

.1, Option ID :- 205,

« 2, Option ID :- 206,

« 3, Option ID :- 207,

. 4, Option ID :- 208,
Answer Given:- 3, Option ID : -207

Question ID:- 53
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It will be most desirable, if schools concentrate on :

(1) preparation for academic excellence.

(2) development of traits of good citizenship.

(3) development of traits to face the hurdles of daily life.
(4) development of modern manners.

(1) ek Scpwdl 1 qaid

(2) 7= AN o o U 1 o

(3) &fer e =t anensti @1 T e % for fasmaet @ fasm
(4) enyfes OfT - Ras #1 ier w0 & fawE

Options:-

.1, Option ID :- 209,
« 2, Option ID :- 210,
. 3, Option ID :- 211,

. 4, Option ID :- 212,
Answer Given:- 3, Option ID : -211

I Haifues diw-tg erm 4fe faearedi § feifeg 92 e =g femn S @

Question ID:- 54

Schools can be called social agents if they :
(I) organise various activities.

(2) transmit knowledge.

(3) educate about rights and duties.

(

4) impart knowledge about traditions and values.

ol =1 |mifse SAfysral wal S 9ol € afe 9
(1) fafi= wrdward #1 emisy w3 21

2) T 1 IR S E |

3) eAferspR 3R Fdea % =R o fofer w5 €1

4)  wosll IR el % 9l H 99 yeH o €

(
(
(

Options:-

.1, Option ID :- 213,
« 2, Option ID :- 214,
« 3, Option ID :- 215,

. 4, Option ID :- 216,
Answer Given:- 3, Option ID : -215

Question ID:- 55
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Meena is a student who can think hypothetically and deductively and can solve abstract problems
and is concerned about personal identity.

She is at which stage according to Piaget’s stages of Cognitive development ?

(1) Sensory motor

(2) Pre operational

(3) Concrete operational
(

4)  Formal operational

T e fomnefl uferearerss faaa o ekl @ iR frmamns faaw adt & den orgd a9ene =1 g
F4 § and ? vd Safws aifera & o | i wdl ¥
ITIF & SNHR T Fard ok 98 afers frarst & SsmreTes foerg & frg = § 22

(1) Hegr T

(2) Td HiHITeHE
(3) A HiEAETH
(

4) e wisaes
Options:-

.1, Option ID :- 217,

« 2, Option ID :- 218,

. 3, Option ID :- 219,

. 4, Option ID :- 220,
Answer Given:- 4, Option ID : -220

Subject : UTL_Q56-Q70_PRT28FEBSH2

Question ID:- 56

Which one of the following is not a key point for curriculum development in child centred
approach ?

(1) Selection of content and setting priorities

(2) Study of students’ abilities and backgrounds

(3) Determining methods and strategies for learning the content

(4) Determining the procedures of monitoring, assessment and evaluation

e hfad IUrTH H wrsT=al faiv & fou frefafea § 9 =0 v e 9 @ 8 2
(1) fowa-a%g = 977 s wafgsward e wen

(2) To=nfeRE =t ArgarE Sk gy o sierA

(3) fawz-axg =i faam & foru fafedl @) sedfaar s freto

(4) TRTOAL, STRe SR oA i faferi s fraim

Options:-

.1, Option ID :- 221,
. 2, Option ID :- 222,
. 3, Option ID :- 223,
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. 4, Option ID :- 224,
Answer Given:- 2, Option ID : -222

Question ID:- 57

(1) Assessment for learning.
(2) Assessment of learning,
(3) Assessment as learning,
(4) Summative assessment.

eI A foRger U WrT § 2
(1) e & foe smepem

(2) AT = SR

(3) T % ®Y H SR

(4) ANTIHF 3Tehe
Options:-

.1, Option ID :- 225,
. 2, Option ID :- 226,
. 3, Option ID :- 227,

« 4, Option ID :- 228,
Answer Given:- 3, Option ID : -227

Diagnostic assessment is a part of :

Question ID:- 58

2

4

Options:-

.1, Option ID :- 229,
« 2, Option ID :- 230,
. 3, Option ID :- 231,

. 4, Option ID :- 232,
Answer Given:- 4, Option ID : -232

For following ‘Competency Based Approach’ one would not require :

(1) Preparing the list of competencies to be achieved

(2) Arranging competencies in order of increasing difficulty

(3) Identifying prerequisites of learning and making it a part of teaching-learning
(4) Ensuring course coverage during stipulated time limit

‘geraT ST SUNTY’ S % o et eravsRar TE 2t ?

(1) 9T =l ST STelt FeTmdist S g G FH

(2) TR H FHiSTE F IBd A H HafEAd FE

(3)  sferTa i gafasti i gEEE A SIR I fe-siferm 1 T 9E SAE
(4) Tavifed goa-—dm & * Fats 1 g s
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()

(1)
2)
3)

(
(
(4)

Question ID:- 59

Which one of the following is not a strength of experiential learning ?

It lays emphasis on real learning experiences.
It works well with experiment oriented topics only.
It is a student led and individually refined method.

It provides for choosing learning related work as a future career.

frfafaa § & 0 SA9arHs AR 1 UF Jaeus T8 ¢ 7

g FRfae ST SYEl T Fd ol 8

% haa FAR sTea fawdi W o=t @ w1

7% U faendt Jgc amen qon SfeaTa w9 | ufeag fafy 21

% Uk a1 HRE & w9 § Afenmy eyt el o1 g7 o1 ST TaT €

Options:-

.1, Option ID :- 233,
« 2, Option ID :- 234,
« 3, Option ID :- 235,

. 4, Option ID :- 236,
Answer Given:- 4, Option ID : -236

Question ID:- 60

A teacher can establish rapport with students by :

(I) becoming an authority figure.

(2) playing a role of a guide,

(3) implementing rules strictly.

(4) impressing the students with knowledge of the subject.

T AATE BEI 6 Y EfeS Heitl Tnfue s Hehell ¥ |
(1) T WIfEERR o= Al aTht

(2) U HEiewisk i yjfae e

(3) Tzl 1 FSE 9 AF] Fh

(4) Teranfei =1 fawa o 9 9 gafad
Options:-

.1, Option ID :- 237,
« 2, Option ID :- 238,
. 3, Option ID :- 239,

- 4, Option ID :- 240,
Answer Given:- 2, Option ID : -238

Question ID:- 61
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Which one of the following is the limitation of Constructivist approach ?
(1) Emphasis on sensory input

(2) Ignoring standardised testing

(3) Acquiring knowledge by accepting the challenge
(

4) Democratic learning environment

Freafafad | & @ HEAEE! Urm i U Hi g ?
(1) Hodt A™eYe | Fe <

2) HFhIF T i IU&T FHEH

3) Al I WIHER FHE FH UG FHEAT

(
(
(4) TArERdi=RR AT e
Options:-

.1, Option ID :- 241,

. 2, Option ID :- 242,

. 3, Option ID :- 243,

. 4, Option ID :- 244,
Answer Given:- 2, Option ID : -242

Question ID:- 62

Which one of the following is correct ?

(I) Measurement is a process of quantifying some attributes,
(2) Measurement is a process of organising qualitative data.
(G

(

quantitative observations.

Frefafes 5 4 $H-m 9 &2
(1) 9T F Ui ] O S R U 9
(2) YA IO ST 1 AT T i TR T |
(3) YT FS A 3294 % WU SHHRI e LA i Teh Fiohd 2 |
( A
Tl
Options:-
.1, Option ID :- 245,
« 2, Option ID :- 246,
. 3, Option ID :- 247,

« 4, Option ID :- 248,
Answer Given:- 4, Option ID : -248

3) Measurement is a process of obtaining information relative to some known objective.

4) Measurement refers to value judgement on a phenomena based on both qualitative and

4) HIH HERHS SR IS, SHI STl W SNHRd e uiew W godar o @ @ wew wiee

Question ID:- 63
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Teacher made tests are characterized by :

(1) their scope for unlimited comparisons and interpretations.

(2) their scope for covering as many competencies as possible.

(3) their merit as a learning exercise to motivate students to develop good habits.
(4) uniform directions.

% BRI, SAEATTER GRI ST U GL&T0T 26l FEar 1 T ged § |
(1) o7t gammed o =amensi & faw 7% &9
(2) FAW HYG SHAS P FL FE F (AU I &
(3) Toenfdei & or=st sred foefaa # gq efufta o deeft siftrm st & &9 9 379 -3
(4) TFHuA FEvH

Options:-

.1, Option ID :- 249,
« 2, Option ID :- 250,
« 3, Option ID :- 251,

. 4, Option ID :- 252,
Answer Given:- 2, Option ID : -250

Question ID:- 64

Which one of the following is not a feature of group learning ?

(I) More and variety of ideas are generated through brain storming,
(2) Errors are being identified and corrected easily.
(3) Sharing of knowledge and experience is easier.
(

4) Student does assignment in her/his own pace.

Freafafaa 8 § Fn w9y wifirm =1 us o 76 § 2

(1) =ifgs fomm ¥ mem § afusr v fafvm vr 3 fa=m som 2a
(2) eIl S TEEH I S @R ST I ST | YEN S @ 8

(3) M 3T SATHH HI WIS HEAT STEH ¢ |

(4) Toreneft s wfq | fean en w W (TERHR) FA €

Options:-

.1, Option ID :- 253,
« 2, Option ID :- 254,
« 3, Option ID :- 255,

. 4, Option ID :- 256,
Answer Given:- 4, Option ID : -256

Question ID:- 65
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(1)
2
3)

(
(
(4)

(1)
(2
(3
(4)

)
)

Which one of the following is not a step in the procedure for preparing a unit plan ?

Formation of proper units and such units for the prescribed syllabus
Formulation of objectives pertaining to the units

Preparing a list of TLMs prescribed for the teacher

Determination of methods of assessment

TohTS Al dAR T 1 Hiskan 1 Freferfad § 9 siF-w1 wen e 76 2 2

fafed wremrn % fou 3ugaa swEal v 39-@eal &1 fmfm
THRIZ 9 Heifed 38941 =1 gfaare
s1enTasR o for fauifid &1 e w. &t gt dum
sTRe i fafeal =1 fuio

Options:-

.1, Option ID :- 257,
« 2, Option ID :- 258,
. 3, Option ID :- 259,

« 4, Option ID :- 260,
Answer Given:- 3, Option ID : -259

(1)
2)
3)

(
(
(4)

(1)
(2)
(3)
(4)

Question ID:- 66

Which one of the following is not a characteristic of learning process ?

Learning is continuous process.
Learning is outcome of interaction of individual with environment.
Learning is an active process.

Learning is essentially a formal process.

fr=fafea o 9 o 2Aferm gfemen =t v fagmm =i &2

g U Gaa gima &1

saferme = &l ATTERoT o WY UREaiie fRE s o aftom B
siferm v 9w wim 2

sfepmy ifarde: ue denfie uiwan #1

Options:-

.1, Option ID :- 261,
« 2, Option ID :- 262,
« 3, Option ID :- 263,

. 4, Option ID :- 264,
Answer Given:- 4, Option ID : -264

Question ID:- 67
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Which one is not a function of achievement test ?

(1) Knowing to what extent the student has acquired knowledge in a topic

(2) Comparing achievement among students regarding acquisition of knowledge
(3) Diagnosing learning difficulties

(4) Predicting future success levels

frefafea § 9 =0 & guifd wde 1 e 78 €2

(1) g s 5 B = for dimn e et forem o1 3 ot foren 2
(2) I S % "oy g BE1 < @ Huifed s o HE
(3) stferm gl 1 fem e

(4) T HRerdl Tl ol fasET e

Options:-

.1, Option ID :- 265,

. 2, Option ID :- 266,

. 3, Option ID :- 267,

. 4, Option ID :- 268,
Answer Given:- 2, Option ID : -266

Question ID:- 68

Which of the following statements is true about multigrade teaching situation ?
(I) Mostly the situation is formal.

(2) Teacher’s presence is necessary.

(3) Cooperation among children is less.
(

4) Variety of experiences are unlimited.

e e feerfe 3w Fretfeorfad 9 S99 %99 98 &7
(1)  eAfersrior: feafa sfrenfer 2t 2

(2) AeATYE i Suferfa savTE ¥
(3) o= H HEAN FH B E |

(4) el ot fafaemr srhfid €
Options:-

.1, Option ID :- 269,

« 2, Option ID :- 270,

. 3, Option ID :- 271,

. 4, Option ID :- 272,
Answer Given:- 4, Option ID : -272

Question ID:- 69
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Which of the following statements is not true ?

(1) Peer assessment helps students to consolidate their learning.

(2) Peer assessment helps students develop skills in meta-cognition.

(3) Through peer assessment students learn to give and receive constructive feedback.
(4) Through peer assessment students practice the concepts and skills explicitly.

frefafad § | $F-91 F9F &1 T8l §?

(1) TSt eerer faenfefi =61 s sifermm =1 ooiga oA | Gem i S
(2) HRUE HAiher faenfeial s "e-Ha (Meta-Cognition) H =it e 1 H HEM™dl Ll 3 |
(3) TRl STehed o HeAH § faendl s wigssd & oi U Ui o €

(4) TEUES STRer o HreAH | ferned Heroumsil i Hwel w1 wrea s w1 § )

Options:-

.1, Option ID :- 273,

« 2, Option ID :- 274,

. 3, Option ID :- 275,

. 4, Option ID :- 276,
Answer Given:- 2, Option ID : -274

Question ID:- 70

While asking a problem question in a class which of the following can effect the response
adversely ?

(1) Clear intent

(2)  Use of double negatives

(3) Questions with correct answer
(

4) Having no previous material fo refer to

Fell H g9 g g 999 fefafad § 9 o SW W vfaee Tee S el § 2
(1) ¥ =EHA

(2) SR THRHER HT gHT

(3) HE I F WY T

(4) He = fau ferdt o |t =1 = €

Options:-

.1, Option ID :- 277,
« 2, Option ID :- 278,
. 3, Option ID :- 279,

. 4, Option ID :- 280,
Answer Given:- 2, Option ID : -278

Subject : CCLE_Q71-Q80_PRT28FEBSH2

Question ID:- 71
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Normally “Inclusive Education’ is referred to :
(1) Girls Education

(2) Divyangjan Education

(3) Adult Education

(4) Non-formal Education

qrar=a: waE foen’ el

(1)  =nferer Toem

(2) TeeHiTs foa

(3) g faam

(4) eI feT
Options:-

.1, Option ID :- 281,
« 2, Option ID :- 282,
. 3, Option ID :- 283,

. 4, Option ID :- 284,
Answer Given:- 2, Option ID : -282

Question ID:- 72

What do you understand by the term ‘Mental health” in school education ?
(I) Social well being

(2) Physical well being

(3) Cognititve, Behavioural and Emotional well being

(4) Mental well being

foremer faren & ‘AFfae e’ s § o9 P 99 € 7
(1) Tmfses &9 § @Ey B
(2) IR ®9 T B
(3) HIMIHE, HERHHF 3R HEAHE T § T B
(4) HHAMEF TG H I A1

Options:-

.1, Option ID :- 285,
« 2, Option ID :- 286,
. 3, Option ID :- 287,

. 4, Option ID :- 288,
Answer Given:- 3, Option ID : -287

Question ID:- 73
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Which one of the following is most relevant to address ‘Mental disorder” in school children ?

(1) Parent’s Intervention
(2) Medical help

(3) Creating awareness on mental health
(

4)  Regular appointment of professional counselling in schools.

ferenerht srerehi § ‘AHfEe fomr’ & wEeE & fou frefates § 9 w6 w1 gaifys gEies 82
(1)  =ar-foan =1 swaey

(2) Tafee wemEE

(3) WM W TR SRTEH Ugl FHEAT

(4) TeoremerEl | Y9raR waEeieRl =i fHafad Fgfe

Options:-

.1, Option ID :- 289,
« 2, Option ID :- 290,
. 3, Option ID :- 291,

« 4, Option ID :- 292,
Answer Given:- 4, Option ID : -292

Question ID:- 74

The ‘Community Centres’ in society would ensure :
(I) Excitement among children

(2) Socialisation among children

(3) Behavioural change among children

(4) Thinking capacity would enhance

s H  AreErtaes e o e wd € 2

(1) SreTehi H ITe
(2) STeTshl T WIS L]
(3) @eAHl H SAEENIHS Seeld
(4) THF qHa | gfg
Options:-

.1, Option ID :- 293,
. 2, Option ID :- 294,
. 3, Option ID :- 295,

« 4, Option ID :- 296,
Answer Given:- 2, Option ID : -294

Question ID:- 75
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The condition of ‘Inability to learn” among school children normally referred as :
(1) Dyslexia

(2) Dysgraphia

(3) Autism

(4) Mental retardation

faemerdt st o ‘sifenm F sEvEar @y feafq = g sifyom @

(1) dr=F S

(2) & g%

(3) T

(4) HEREF Hed
Options:-

.1, Option ID :- 297,
« 2, Option ID :- 298,
. 3, Option ID :- 299,

« 4, Option ID :- 300,
Answer Given:- 1, Option ID : -297

Question ID:- 76

What is the minimum quantum of disability prescribed to avail benefits for Divyangjan children ?
(1) 25%

(2) 50%
(3) 40%
4) 35%

feeaiTsH arerenl o feTu sismal 61 oy o =g fafafes s =it =JAa | 2 2

(1) 25%
(2) 50%
(3) 40%
(4) 35%

Options:-

.1, Option ID :- 301,
« 2, Option ID :- 302,
« 3, Option ID :- 303,

. 4, Option ID :- 304,
Answer Given:- 3, Option ID : -303

Question ID:- 77
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The “Small sized head” among school children is technically in Mental illness known as ;
(I) Dwarfism

(2) Microcephaly

(3) Megacephaly

(4) Cretinism

faemerdt o o ‘91 R & ot @ gefaes faer § aeie! ar W feg T 8 e S § ?

(1) @A

(2) HEHITEEE

(3) HMTERe

(4) SrEamFE
Options:-

.1, Option ID :- 305,
« 2, Option ID :- 306,
. 3, Option ID :- 307,

« 4, Option ID :- 308,
Answer Given:- 2, Option ID : -306

Question ID:- 78

The programme ‘Manodarpan’ recently launched by Ministry of Education, Govt. of India,
refers to :

(1) Training programme for teachers
2) Recruitment of teachers
3) Mental health of children

(
(
(4) Physical health of children

Toren H=erd, YRA SR g BT B H g T e e aeed o el Heifd @ 2
(1) ereaTehl % ferg e ey |

(2) STEAIRl Wl o

(3) T F HHGF WEd

(4) @eTeh o RIS e 9§

Options:-

.1, Option ID :- 309,
« 2, Option ID :- 310,
. 3, Option ID :- 311,

. 4, Option ID :- 312,
Answer Given:- 3, Option ID : -311

Question ID:- 79
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Which one of the following is essential for professional health counsellors in schools ?
(1) Empathy
2) Emotions
3) Sympathy

(
(
(4) Apathy

ferameral § TeER Tre Wil & fou frafeafad 9§ 9 wE-w 7o g Atem § 2

(1)
(2) Hem
(3) Wy
(4)  HIERA
Options:-

.1, Option ID :- 313,
. 2, Option ID :- 314,
. 3, Option ID :- 315,

. 4, Option ID :- 316,
Answer Given:- 4, Option ID : -316

Question ID:- 80

Which one of the following factors is accountable for Mental disorder in school children ?
(1) Accidents

(2) Family atmosphere

(3) Harmonal imbalances

(

4) Traditions and customs

foemerdt sreeri o Afas faer & fau f=fafag 9§ 9 :F-o i e g ?
(1) gl

(2) 9RER = =R

(3) BMEMH FHIEH

(4) TR SR Gfd-fars

Options:-

.1, Option ID :- 317,

« 2, Option ID :- 318,

« 3, Option ID :- 319,

. 4, Option ID :- 320,
Answer Given:- 2, Option ID : -318

Subject : SOL_Q81-Q90_PRT28FEBSH2

Question ID:- 81
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In what sense a teacher is termed as an initiator ?
(1) Teacher is first to teach alphabets to children.
(2) Students see teacher as their ideal.

(3) Teacher voluntarily comes ahead to train students into learning skills.
(4) Teacher is a friend, philosopher and a guide.

forg @39 § reaues =1 WRTEFAT el ST & ?

(1)  STATTH a=di o] Uael a1 18R I <l ¢ |

(2) Taemeff w9 1 oo omeet Ord €

(3) F1EATTE @Y T ST forenfefi w1 sifer s w1 wivEw S §
(4) STEATYSH T S, SRITH SR TeARHR Bl 2 |

Options:-

.1, Option ID :- 321,
« 2, Option ID :- 322,
. 3, Option ID :- 323,

. 4, Option ID :- 324,
Answer Given:- 3, Option ID : -323

Question ID:- 82

Which one is not a part of team building process ?
(1) Selection and initiation

(2) Coordination

(3)  Building rapport

(4) Cognitive process analysis

A W U 2 fmio w fewm @ 82
(1) =77 T s H

(2) HHEFA

(3) HeM S

(4) = fsean fagera

Options:-

.1, Option ID :- 325,
« 2, Option ID :- 326,
« 3, Option ID :- 327,

. 4, Option ID :- 328,
Answer Given:- 4, Option ID : -328

Question ID:- 83

@ Teachingninja.in



Which one of the following is not a part of leadership process ?

(D
(2)
(3)
(4)

Assigning roles to every student
Assessing cultural background of students
Evaluating students

Motivating students

71 4 9 % T g AR 1 9 T g 2

(1)
(2)
(3)
(4)

geae fermedf =1 yfernd o
ferenfei =1 Yoo HT

Options:-

.1, Option ID :- 329,
« 2, Option ID :- 330,
. 3, Option ID :- 331,

- 4, Option ID :- 332,
Answer Given:- 2, Option ID : -330

Question ID:- 84

Which one of the following is not a part of instructional role of a teacher ?

(1)

Motivating

Using easy language

Informing

Assessing the impact of instructions

=1 § =IF @1, T et w1 fdeeren yfaer = w9 @ § ?

Ffvmfta s
TS T YART HET

A Al
T & wure Sir=E

Options:-

.1, Option ID :- 333,
« 2, Option ID :- 334,
« 3, Option ID :- 335,

« 4, Option ID :- 336,
Answer Given:- 1, Option ID : -333

Question ID:- 85
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Which one of the following helps maximum in developing a sense of sympathy among teachers ?
(1) Touring far and wide

2) Visits to hospitals

3) Extensive reading

(
(
(4) shocks of life

forerari & wemyfa =1 wae fasfod &1 § $iF 998 Se 9eF § 2
(1) TS ! A FAT

(2)  STEYATE ST
(3) R W
(4) SEA F Feh
Options:-

.1, Option ID :- 337,
« 2, Option ID :- 338,
. 3, Option ID :- 339,

. 4, Option ID :- 340,
Answer Given:- 2, Option ID : -338

Question ID:- 86

For enhancing one’s horizon, which one forum will you recommend to a teacher ?
(1) Children Assembly

(2) Teachers Association

(3) Public Assemblies

(4) Mass Media

T eIV AT T 2 AW U ek 1 T 5= i gerg €1 2

(1) =1 |

(2) Toreres ww

(3) S Hud

(4) S TER-UER HIEH

Options:-

.1, Option ID :- 341,
« 2, Option ID :- 342,
« 3, Option ID :- 343,

. 4, Option ID :- 344,
Answer Given:- 2, Option ID : -342

Question ID:- 87
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Which school time table period will you suggest for games and sports ?
(1)  First period

(2) Period just after the recess

(3) period just before recess

(4) Second period

TaAFE & A Thal &1 GHF Wl & $F 9 GERT &1 g & ?

(1)  9gH HIA
(2) el GEl & Sk WG HHA
(3) e Y2 % Sk YT H HEA
(4) Todra e

Options:-

.1, Option ID :- 345,
. 2, Option ID :- 346,
. 3, Option ID :- 347,

« 4, Option ID :- 348,
Answer Given:- 2, Option ID : -346

Question ID:- 88

Who can help school principal, Mr.Ali, the most in setting goals for his school ?
(1) Senior citizens of locality

(2) A forum of school principals

(3) A group returned after visiting foreign schools

(4) Education officers

AT TFA % 329 99 F § fTeE gamEE, off il F S gey SAe Yer € 9l € 2
(1) =&t & Ffiss @m

(2) Ehe YHFEE T E

(3) Toel wHal 1 9O R SRl T <

(4) e srferemrt

Options:-

.1, Option ID :- 349,
« 2, Option ID :- 350,
. 3, Option ID :- 351,

. 4, Option ID :- 352,
Answer Given:- 2, Option ID : -350

Question ID:- 89
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Who can best help the teacher Mr. Sharma in developing his class plan ?
(1) Best and weakest students of his class

(2) His collegues

(3)  His school advisor

(4) Parents

S el i Arerl a | e, off vmil @1 SiF wafan e € e © 2
(1) 37! Fa F Had SR oit Fasir fammef
(2) % HERH

(
(

3) Ik Thell HARHR
4)  srfyvmEs

Options:-

.1, Option ID :- 353,
« 2, Option ID :- 354,
. 3, Option ID :- 355,

. 4, Option ID :- 356,
Answer Given:- 1, Option ID : -353

Question ID:- 90

Which one of the following is a learning community ?
(1) Staff Association

(2) Discussion groups on Tea stalls in the locality
(3) Hobby clubs

(4) Parents Association

=1 § 9 TF A weE B2

(1) %% HiHfd

(2) ST ! 9@ I GHA W TG TR
(3) ifern e

(4)  SAPITER HH

Options:-

.1, Option ID :- 357,
« 2, Option ID :- 358,
. 3, Option ID :- 359,

. 4, Option ID :- 360,
Answer Given:- 4, Option ID : -360

Subject : PE_Q91-Q100_PRT28FEBSH2

Question ID:- 91
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What is the major aim of imparting school education according to you ?
(1) Socialization of children

(2) To fulfil constitutional provisions

(3) Development of a country
(

4) To make children aware of our rich cultural heritage

39 STTHR Thell e YeM T &1 T9e 3839 1 & 7
(1) == =1 TS

(2) HauIE gEEE R G A

(3) TH g H forpr

(4) = I YA TG TR YR H T HA]

Options:-

.1, Option ID :- 361,
« 2, Option ID :- 362,
. 3, Option ID :- 363,

« 4, Option ID :- 364,
Answer Given:- 1, Option ID : -361

Question ID:- 92

Who emphasized on the integration of essential subjects, skills and capacities ?
(1) NEP - 2020

(2) NPE - 1986

(3) NCF - 2005

(4) NCFTE - 2009

e fawi, el agn guaedi & v W) fFad 99 femn ?
(1) NEP - 2020

(2) NPE - 1986

(3) NCF - 2005

(4) NCFTE - 2009

Options:-

.1, Option ID :- 365,
« 2, Option ID :- 366,
« 3, Option ID :- 367,

. 4, Option ID :- 368,
Answer Given:- 3, Option ID : -367

Question ID:- 93

@ Teachingninja.in



Who is expected to design a National Curricular and Pedagogical Framework for Early Childhood
Care and Education (NCPFECCE) ?

(1) SCERTs

(2) NCERT
(3) CIET
(4) RCI

Td FeATeRe SEE SR e (ECCE) 9 Ui o=@t iR fremr smetta gfen (NCPFECCE) M
i Foriert fres ifam 272

(1) SCERTs
(2) NCERT
(3) CIET
(4) RCI
Options:-

.1, Option ID :- 369,
« 2, Option ID :- 370,
. 3, Option ID :- 371,

« 4, Option ID :- 372,
Answer Given:- 2, Option ID : -370

Question ID:- 94

What is the logic behind advocating competency based learning and education ?
(1) The spirit of equality

(2) Constitutional provisions

(3) Social pressure
(

4)  Each child learns at its own pace

Terel e ifiry oiR foen ) el R % 99 9 a9 8 2
(1) HHFA Hl e

(2) Hfay™ % wEHEE

(3)  HrHIfSIh Zairel

(4) T AAF A fq T HiE ¥

Options:-

.1, Option ID :- 373,
« 2, Option ID :- 374,
. 3, Option ID :- 375,

« 4, Option ID :- 376,
Answer Given:- 4, Option ID : -376

Question ID:- 95
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How a school can make its environment safe and secure for children ?
(1) By asking school guard to be vigilant

(2) By keeping children happy through games and food
(3) By asking students not to go out of school

(

4) By adopting affectionate teaching learning techniques

=l & U U e 707 Ay &1 g siR gefad 9 @ el @ 2
(1) Thel % FIHIGR i SRTER WA H FEH

(2) W AR ASHE 5 = Bl G T

(3) BT %I el o a1eL A1 S %l Feh

(4) TTEqYl Toramr-siferms 1 TeTh SR

Options:-

.1, Option ID :- 377,
« 2, Option ID :- 378,
. 3, Option ID :- 379,

. 4, Option ID :- 380,
Answer Given:- 4, Option ID : -380

Question ID:- 96

In the existing educational set up at school level, which right of the children is not properly handled
by our teachers ?

(1) Endless arguing nature of some children

(2) To remain in the school throughout the day

(3) Proper feedback on home assignment of children
(4) Sitting of children in the class as per their height

FaAr S giEe § TR ferl g s o HA-9 AR T el Aifq e e e s
1) F® = & SAdeH doh B o EHE |

2) Hi fed wpa H @

3) @rerehi < T8 1 W HHfE wfayfe

4) ST AR % STIEN HE H ST i AT

Options:-

.1, Option ID :- 381,
« 2, Option ID :- 382,
. 3, Option ID :- 383,

« 4, Option ID :- 384,
Answer Given:- 1, Option ID : -381

Question ID:- 97
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In case of non-availability of mother tongue language teacher, preferably in which language, a
primary class student should be taught ?

(1) Language of the State

(2) Hindi
(3) English
(4) Regional Language.

G % AN i sTuikfd #, uh wufad wen F aners w1y e # uer &l € e
=faw 2

2) f&=i

(3) TSI

(4)  sEfF-w
Options:-

.1, Option ID :- 385,
« 2, Option ID :- 386,
. 3, Option ID :- 387,

. 4, Option ID :- 388,
Answer Given:- 4, Option ID : -388

Question ID:- 98

Who, among the following invited experts from Russia and America for developing its report ?
(1)  University Education Commission - 1948

(2) Mudaliar Commission - 1952-53

(3) Kothari Commission - 1964-66

(4) NEP - 1986

St fode =t 5 H e A e v ol safe | fadmsi = fdfa famen 2
1) favafaaem foa smm-1948

(

(2) HeEleTa SER 1552-53

(3) I STEM 1964-66

(4) U foan Hifd (NEP) 1986

Options:-

.1, Option ID :- 389,
« 2, Option ID :- 390,
. 3, Option ID :- 391,

« 4, Option ID :- 392,
Answer Given:- 4, Option ID : -392

Question ID:- 99
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Which one of the following types of curriculum you will recommend for teaching primary
classes ?

(1) Integrated Curriculum
2) Subject centered Curriculum
3) Core Curriculum

(
(
(4) Crash Curriculum

wreife FaTet § e wq @ 1 H W e qrewEEl & yeR @ A wa ?
(1) THFA =i

(2) fowa smenfa =i

(3) &S () UrST=Al

(4) SO TSTEA

Options:-

.1, Option ID :- 393,
« 2, Option ID :- 394,
. 3, Option ID :- 395,

- 4, Option ID :- 396,
Answer Given:- 1, Option ID : -393

Question ID:- 100

For teaching at which of the following level, knowledge only of the teacher is not an important
factor ?

(1) Secondary stage

2) Middle School stage
3) Preparatory stage
4) Foundational stage

(
(
(

=7 5 9 foFg TR W gH F fau steame & Fee 99 @ UF geeayyl R T ¢ 2
(1) HreEEfAs &

(2) fafes = &R

(3) AR el W

(4) IR W
Options:-

.1, Option ID :- 397,
« 2, Option ID :- 398,
. 3, Option ID :- 399,

. 4, Option ID :- 400,
Answer Given:- 4, Option ID : -400

Subject : HINDI_Q101-Q120_PRT28FEBSH2
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Question ID:- 101

FrAfatfaa Ty &t s Yds gt ST SMUTRA U9 i Helh STl alfag

IR wifeed w1 gad gt fagvar 3us 9o 0§ fouq g0 &t waq1 ¥ 1 35! 78 fagwar ga
THE Y1}t € 7o A g5 o 9 W HYR o 3 Gifecdl ok 9 98 9] Hifcrshdl i qeehl Hel
Hehdl € | 279 Teia AN sl Fefehdl T o Tehdl 7 | 59 TR oififer &3 § 9Rd o 9, sfa, e
4 % g 9fHg € i SH g wifeey qur 3 Feneli § off Wdid ysfa ga=g #i @K @ ¥
wifaferr Ta= 9 30/ ac9d difeced § Ui g@-5@, 3dH-Tdd, @ - faug snfe fadedt qen faodia
ral & AR a1 T Aeiifhad e § 39 faefi= &1 om § 1 arfecy & fordt oin =t o Sfge, gda
78 Tu-a feaE <m |

it &3 H frefafed 9 9 frges 4= w9 ufas 22
(1) ¥F, FH AR A
(2) M, *H 3R g5
(3) H, ufe 2R 24
(4) ¥, FH R Fid

Options:-

.1, Option ID :- 401,
. 2, Option ID :- 402,
. 3, Option ID :- 403,

. 4, Option ID :- 404,
Answer Given:- 1, Option ID : -401

Question ID:- 102

Trefeifiaa TTenen st sATTgash Ugeht SHUT ST U9 ohl Weleh St oifag

W Ffee 1 wad St faviea S5 g v | frud Tead 1 wee 81 3! 78 T ga
Y@ q1 Wit € & F9e ol & 96 W GUR F 3 Uifecdl & 9 98 91 Hifetshdl &1 Ut el
Hehdl & | A9 s Af%aea ot arefehan gamird & e 8 | 59 yer anfife &9 § wra o 9, 9fed, qen
1 F goag gfag € S oOl ueR aifee 9o o1 Fenell § o vRdT wfa guam &) 3R @R
afefers ao=a § gam aed aifee § 9 g@-g@, sem-udd, & - faue enfe fadef qen fauda
1l o T 9L U Hellfeher TG H 37 foeilq 81 5 H § | Aifecd & el 317 =l o efg, Has
7 g femrE em
frefafaa 5 e % ded § s v ®
(1) 3TFHd
(2) Tesioa
(3) Hifereren
(4)  welRa

Options:-

.1, Option ID :- 405,
« 2, Option ID :- 406,
. 3, Option ID :- 407,

- 4, Option ID :- 408,
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Answer Given:- 1, Option ID : -405

Question ID:- 103

Frafafea v & S YaE gt SHUT STERa U9 T Geieh ST alfag

R gifecy #t Tad st fadoa 39 9ot &9 § frog go=a # 9= 81 3599 g8 e g
Y@ q1 i © 5 hae 36 & 90 | HER F o7 Tifecl & 9 98 S0 HifcreRdl i gden wa
Hehdl T | 3797 T3 e T Grefehdn T o geha © | fora yeRr enfifer & vd % 9, afe, aen
U F gug  giag € S SO weR aifecey aun o wenell § o R weia geead ) 3R @
rfefeas geaa ¥ g aced wifec # 9ekid u-g@, sem-uad, 7 - faue sufe faded qen foada
WTel o WHIHIU 9T Uk STalifoheh AMG H e faed a1 o1 § ¢ | @ifeca & et o =t e Sfau, |
7 wa-a femm gm |

ST TR ferdroan & o1 WX YR Wifeca fowa # S19+T gareht e Hehdl € 7
(1) Hiferara

(2) tfeReRdl

(3)  HH=E HI HIEAl
(4) AH

Options:-

.1, Option ID :- 409,

« 2, Option ID :- 410,

. 3, Option ID :- 411,

. 4, Option ID :- 412,
Answer Given:- 3, Option ID : -411

Question ID:- 104

Trerfafaa TNy st earTyaeh Ugent SO ST U9 oAt Weldh 3t oIl

YA Hifecd it Tad Sl a8 36 9o &9 § feoq goed &1 961 81 35 g8 o sa
@ a1 WiffE § fF Faa s o 90 W GER F o Fifecl & 9 98 STIT HiferRal S qdr Wl
Hhdl & | A9 wcs &I ot drefehd] T R Hehel § | 59 yopr enfifer & & wwa o 91, e, qen
FH % goed  gfag € 9 39 W wifec qen S wenstl | ot R wepfa wee &t $iR W ¥
Afefes g9aa ¥ 790 acad aifec § 9eiia gu-g@, sem-uad, 79 - faue sufe faded qen foada
el o THIHT AU U Hallfcheh G H 3ok faeiq &l o H ¢ | Aifecd & et o =0t o efa, |es
72 g femr

freafafiga § @ wF-w1 gm sifhs st faela € s W o wifefores aawaa &1 == guiar ?
(1) =1 -

(2) @ - fourg
(3) M - W
(4 ¥E-3@

Options:-
.1, Option ID :- 413,
. 2, Option ID :- 414,
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. 3, Option ID :- 415,

. 4, Option ID :- 416,
Answer Given:- 1, Option ID : -413

Question ID:- 105

TrefefEa Tensr st sATTges Ugeht SHUT e U9 ohi Weleh Stid oifag

YR Tifecy Ft Tad st fadoa 39 9ot &9 4 froq g # 9= 81 3599 g8 e g
Y@ 991 Wi § o ot 36 o 9 W HUR % 3 Hifecdl % 9 98 9T Hiferehdl St qedeRt el
HeFdl T | 3797 T3 e Tl Grefehdn T o gehd © | e yer wnfifer & vd % 9, afe, aen
*H F guaE 9iEg € St SE weR wifeey aun o= el § off YR wefa weead & 3R W
wfefeas g9aa ¥ 790 acad wifec § 9eiid gu-g@, Sem-uad, 79 - faue sufe faded qen foada
el o THIHT AU U Hallfcheh G H 37k faeiq &l o H ¢ | Aifecd & et o =0t o efau, |es
7 gaa femr g

fefcass Frera | o1 %

(1) =%H ToreR sl Wit o1 ST
(2) Toegl ot anis wefid &

(3) et sin faudiq wmei =1 steiifrer e | faefi= & s
(4)  STTeRdl H THAT I 1G] 1 G

Options:-

.1, Option ID :- 417,

« 2, Option ID :- 418,

. 3, Option ID :- 419,

. 4, Option ID :- 420,
Answer Given:- 3, Option ID : -419

Question ID:- 106

“offTr’ gree T TITEETE T €

(1) gHsH
(2) i
3 41
(4) fagm
Options:-

.1, Option ID :- 421,
« 2, Option ID :- 422,
« 3, Option ID :- 423,

« 4, Option ID :- 424,
Answer Given:- 3, Option ID : -423

Question ID:- 107
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Options:-

.1, Option ID :- 425,
« 2, Option ID :- 426,
. 3, Option ID :- 427,

. 4, Option ID :- 428,
Answer Given:- 2, Option ID : -426

Question ID:- 108

THH T =l S5 I §)

(1) = - "M

(2) foman - sy

(3) =HIFA — i

(4) &R - @R
Options:-

.1, Option ID :- 429,
« 2, Option ID :- 430,
. 3, Option ID :- 431,

. 4, Option ID :- 432,
Answer Given:- 4, Option ID : -432

Question ID:- 109

Foreiffa faciedt v - 77l sr -

(1) =g - faey

(2) WA - A
(3) fHer - =
(4 H9-T9H
Options:-

.1, Option ID :- 433,
. 2, Option ID :- 434,
. 3, Option ID :- 435,

« 4, Option ID :- 436,
Answer Given:- 1, Option ID : -433

Question ID:- 110
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(1) U
(2) e
(3) Ham
(4)
Options:-

.1, Option ID :- 437,
« 2, Option ID :- 438,
. 3, Option ID :- 439,

« 4, Option ID :- 440,
Answer Given:- 2, Option ID : -438

Question ID:- 111

Trefafea 5 9 g e ¥ =ism 9y 781 2

(1) Termao
(2) STE™
(3) @feed
(4) ifereR
Options:-

.1, Option ID :- 441,
« 2, Option ID :- 442,
. 3, Option ID :- 443,

. 4, Option ID :- 444,
Answer Given:- 4, Option ID : -444

Question ID:- 112

‘et It |t T feheran’ HeTa / Erhife 1 T o € -

(1)  dien =19 I | @ e

(2) T FHEEA & foIC HETd HA TS 7
(3) O | U HABR & HEA U §

(4) STEET H HH HE AR

Options:-

.1, Option ID :- 445,
. 2, Option ID :- 446,
. 3, Option ID :- 447,

- 4, Option ID :- 448,
Answer Given:- 1, Option ID : -445

Question ID:- 113
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"STEl e ol Ug’ wE few faa et 82

Options:-

.1, Option ID :- 449,
« 2, Option ID :- 450,
. 3, Option ID :- 451,

« 4, Option ID :- 452,
Answer Given:- 3, Option ID : -451

Question ID:- 114

‘T Y T S A S M wEl S W@ SA9H 9 & e ?

(1) =i
2 ¥
(3) Mg
(4 e
Options:-

.1, Option ID :- 453,
« 2, Option ID :- 454,
« 3, Option ID :- 455,

« 4, Option ID :- 456,
Answer Given:- 2, Option ID : -454

Question ID:- 115

‘TS R g9 < e & A
(1) THIE 3Ere

(2) e fgaet

(3) wHeuy fHg

(4) =R T TR

Options:-

.1, Option ID :- 457,
« 2, Option ID :- 458,
. 3, Option ID :- 459,

- 4, Option ID :- 460,
Answer Given:- 4, Option ID : -460

Question ID:- 116
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(
(
(

Options:-
.1, Option ID

« 2, Option ID :-
. 3, Option ID :-

. 4, Option ID :-
Answer Given:- 4, Option ID : -464

“foRe T B Hal ?

Tore waEt =1 feraran 2

I = FHL T gIH L7

B H 7S ferawren 2" wegd e
ford TR 1 7 2

(1) e fog feme

2) HreTara fgardt

3) hedary fHg

4) THERL SFTE

- 461,
462,
463,
464,

Question ID:-

1) fa=
2

Options:-

Answer Given

« 2, Option ID :-
. 3, Option ID :-
- 4, Option ID :-

117

‘e el T e o S T2

+l g 9

(

(2) Torar =i =@ |
(3) T =i weigdl |
(4) TS ATl o HEEE 9

.1, Option ID :- 465,

466,
467,

468,
:- 1, Option ID : -465

Question ID:-

2

-+

Options:-

.1, Option ID :
« 2, Option ID
. 3, Option ID

118

‘Tfearelt ST’ % SR W aasT R St s 6] W g T 2
(1) 3IHHI Hexdl TEH

(2) g ¥ e | 9= % fav
(3) % % FEd W

(4) =gl M % fow

- 469,
:- 470,
- 471,
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. 4, Option ID :- 472,
Answer Given:- 2, Option ID : -470

Question ID:- 119

frefafad =1 gafad sife :
(A) Setsll () e

(D) (A)»@v), (B)-(iii), (O)-(1), (D)-(1)
(2)  (A)-(ii), (B)-(ii), (O)-(1), (D)-(iv)
(3)  (A)-(i), (B)-(1), (O)-(iv), (D)-(iii)
(4)  (A)-(D), (B)-(iv), (C)~(iii), (D)-(ii)
Options:-

.1, Option ID :- 473,
« 2, Option ID :- 474,
. 3, Option ID :- 475,

. 4, Option ID :- 476,
Answer Given:- 1, Option ID : -473

Question ID:- 120

‘eifersr SErEE FH A F SNUR W ARt R SeHt 5 3d Y S W ?

(1) TR

(2 THEAH

(3) &1 I dhd §

(4) omeH % ST 9
Options:-

.1, Option ID :- 477,
« 2, Option ID :- 478,
« 3, Option ID :- 479,

. 4, Option ID :- 480,
Answer Given:- 3, Option ID : -479

Subject : ENGLISH_Q121-Q140_PRT28FEBSH2

Question ID:- 121
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Read the passage given below and answer the question that follow :

It was at that moment that I caught sight of a dotara hanging from a wall. I had not noticed
it till then because it was behind the bench on which we sat. I was surprised to see it in the midst
of other odds and ends like sacks, tins and coconut shells. The traditional two-stringed instrument
had carvings on it and looked well-cared for.

‘“Who plays this dotara, Dada ?’

A beautific smile spread on the face of the old man. I couldn’t have imagined a little while
ago that he could smile like that. He said, ‘All the people visiting the Namghars on the bank of the
Dipholu were familiar with this instrument of mine... People in all these places knew my dotara.
Why, even the people of Behali, beyond the Brahmaputra, appreciated my songs.

The old woman had finished crushing the ginger. She said peevishly, “The old man will now
start bragging about the carved and mirror-studded palanquin... The lad has been gone for two
months now and might be waiting near the railway tracks, hungry and emaciated. This fossil
doesn’t want to hear about that!”

What is a ‘dotara” ?

(1) A kitchen utensil

(2) A household item

(3) A musical instrument
(4) A piece of hosiery

Options:-

.1, Option ID :- 481,
« 2, Option ID :- 482,
« 3, Option ID :- 483,

« 4, Option ID :- 484,
Answer Given:- 3, Option ID : -483

Question ID:- 122

Read the passage given below and answer the question that follow :

It was at that moment that I caught sight of a dotara hanging from a wall. I had not noticed
it till then because it was behind the bench on which we sat. I was surprised to see it in the midst
of other odds and ends like sacks, tins and coconut shells. The traditional two-stringed instrument
had carvings on it and looked well-cared for.

‘“Who plays this dotara, Dada ?’

A beautific smile spread on the face of the old man. I couldn’t have imagined a little while
ago that he could smile like that. He said, ‘All the people visiting the Namghars on the bank of the
Dipholu were familiar with this instrument of mine... People in all these places knew my dotara.
Why, even the people of Behali, beyond the Brahmaputra, appreciated my songs.’

The old woman had finished crushing the ginger. She said peevishly, “The old man will now
start bragging about the carved and mirror-studded palanquin... The lad has been gone for two
months now and might be waiting near the railway tracks, hungry and emaciated. This fossil
doesn’t want to hear about that!”

The sight of a dotara changed the old man’s expression. How ?
(1) It made him sad and crestfallen.

(2) It made him proud and happy.

(3) It filled him with anger.

(4) It had no effect on him.

@ Teachingninja.in



Options:-

.1, Option ID :- 485,
« 2, Option ID :- 486,
. 3, Option ID :- 487,

. 4, Option ID :- 488,
Answer Given:- 2, Option ID : -486

Question ID:- 123

Read the passage given below and answer the question that follow :

It was at that moment that I caught sight of a dotara hanging from a wall. I had not noticed
it till then because it was behind the bench on which we sat. I was surprised to see it in the midst
of other odds and ends like sacks, tins and coconut shells. The traditional two-stringed instrument
had carvings on it and looked well-cared for.

‘Who plays this dotara, Dada ?’

A beautific smile spread on the face of the old man. I couldn’t have imagined a little while
ago that he could smile like that. He said, ‘All the people visiting the Namghars on the bank of the
Dipholu were familiar with this instrument of mine... People in all these places knew my dotara.
Why, even the people of Behali, beyond the Brahmaputra, appreciated my songs.’

The old woman had finished crushing the ginger. She said peevishly, “The old man will now
start bragging about the carved and mirror-studded palanquin... The lad has been gone for two
months now and might be waiting near the railway tracks, hungry and emaciated. This fossil
doesn’t want to hear about that!”

What was the old man’s response ?

(1) He talked about his ancestors with pride
(2) He ignored the new development

(3) He reacted with shock and anger

(4) He shouted at his wife

Options:-

.1, Option ID :- 489,
« 2, Option ID :- 490,
. 3, Option ID :- 491,

. 4, Option ID :- 492,
Answer Given:- 1, Option ID : -489

Question ID:- 124
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Read the passage given below and answer the question that follow :

It was at that moment that I caught sight of a dotara hanging from a wall. I had not noticed
it till then because it was behind the bench on which we sat. I was surprised to see it in the midst
of other odds and ends like sacks, tins and coconut shells. The traditional two-stringed instrument
had carvings on it and looked well-cared for.

‘Who plays this dotara, Dada ?'

A beautific smile spread on the face of the old man. I couldn’t have imagined a little while
ago that he could smile like that. He said, “All the people visiting the Namghars on the bank of the
Dipholu were familiar with this instrument of mine... People in all these places knew my dotara.
Why, even the people of Behali, beyund the Brahmaputra, appreciated my songs.’

The old woman had finished crushing the ginger. She said peevishly, “The old man will now
start bragging about the carved and mirror-studded palanquin... The lad has been gone for two
months now and might be waiting near the railway tracks, hungry and emaciated. This fossil
doesn’t want to hear about that!

How did the old woman react ?

(1) She admonished her husband for his obsession with the past.
(2) She did not react to the situation at all.

(3) She joined her husband in talking about the past

(4) She kept mum and just looked around

Options:-

.1, Option ID :- 493,
« 2, Option ID :- 494,
. 3, Option ID :- 495,

« 4, Option ID :- 496,
Answer Given:- 1, Option ID : -493

Question ID:- 125

Read the passage given below and answer the question that follow :

It was at that moment that I caught sight of a dotara hanging from a wall. I had not noticed
it till then because it was behind the bench on which we sat. I was surprised to see it in the midst
of other odds and ends like sacks, tins and coconut shells. The traditional two-stringed instrument
had carvings on it and looked well-cared for.

‘“Who plays this dotara, Dada ?’

A beautific smile spread on the face of the old man. I couldn’t have imagined a little while
ago that he could smile like that. He said, ‘All the people visiting the Namghars on the bank of the
Dipholu were familiar with this instrument of mine... People in all these places knew my dotara.
Why, even the people of Behali, beyond the Brahmaputra, appreciated my songs.’

The old woman had finished crushing the ginger. She said peevishly, “The old man will now
start bragging about the carved and mirror-studded palanquin... The lad has been gone for two

months now and might be waiting near the railway tracks, hungry and emaciated. This fossil
doesn’t want to hear about that!”

What does “peevish” mean ?
(1) Tragic

(2) Bad-tempered

(3) Excited

(4) Foul-smelling
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Options:-

.1, Option ID :- 497,
. 2, Option ID :- 498,
. 3, Option ID :- 499,

. 4, Option ID :- 500,
Answer Given:- 2, Option ID : -498

Question ID:- 126

Rearrange the parts in correct order to make meaningful sentence.
(a) has adapted

(b) noted film-maker Vishal Bhardwaj

(c) for Hindi Cinema

(d) some of Shakespeare’s plays

(D) (o) (b) (a) (d)
(2)  (b) (o) (d) (a)
(3) (a) (o) (b) (d)
(4)  (b) (a) (d) (c
Options:-

.1, Option ID :- 501,
« 2, Option ID :- 502,
« 3, Option ID :- 503,

. 4, Option ID :- 504,
Answer Given:- 4, Option ID : -504

Question ID:- 127

Rearrange the parts in correct order to make meaningful sentence.
(a) medical challenges

(b) one of the biggest

(¢) Covid-19 was

(d) faced by the country

(D (d) (0) (b) (a)
(2 (©) (b) (a) (d)
(3) (@) (b) (c) (d)
(4) (b) (0) (d) (a)
Options:-

.1, Option ID :- 505,
« 2, Option ID :- 506,
. 3, Option ID :- 507,

« 4, Option ID :- 508,
Answer Given:- 2, Option ID : -506

Question ID:- 128
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Fill in the blank with correct preposition.

It has been raining continuously Monday.
(1) from
(2) for
(3) since
(4) off
Options:-

.1, Option ID :- 509,
« 2, Option ID :- 510,
. 3, Option ID :- 511,

. 4, Option ID :- 512,
Answer Given:- 3, Option ID : -511

Question ID:- 129

Fill in the blank with correct preposition.

It is impossible agree with you on this point.
(1) off
(2) for
(3) from
(4) to
Options:-

.1, Option ID :- 513,
« 2, Option ID :- 514,
« 3, Option ID :- 515,

. 4, Option ID :- 516,
Answer Given:- 4, Option ID : -516

Question ID:- 130

Identify the correct tense form for the underlined parts in the given sentence.
He who pays the piper calls the tune.

1) Simple Present Tense
Present Perfect Tense

e

2
3

4)  Present Perfect Continuous Tense

Present Continuous Tense

— e — —
S

Options:-

.1, Option ID :- 517,
« 2, Option ID :- 518,
« 3, Option ID :- 519,

- 4, Option ID :- 520,
Answer Given:- 1, Option ID : -517

Question ID:- 131
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Identify the correct tense form for the underlined parts in the given sentence.

Why have they been angry with me for a long time ?

(1) Past Tense

(2) Present Perfect Tense
(3) Past Perfect Tense

(

4)  Simple Present Tense

Options:-

.1, Option ID :- 521,
« 2, Option ID :- 522,
« 3, Option ID :- 523,

« 4, Option ID :- 524,
Answer Given:- 2, Option ID : -522

Question ID:- 132

Identify the part which contain an error.
“Aesop’s Fables’ are / a collection of stories / meant to be read / by children.

(1) (2) (3) (4)

Options:-

.1, Option ID :- 525,
« 2, Option ID :- 526,
. 3, Option ID :- 527,

. 4, Option ID :- 528,
Answer Given:- 2, Option ID : -526

Question ID:- 133

Identify the part which contain an error.
Hardly I had / reached the station / when the train / started.

(D) (2) & (4)

Options:-

.1, Option ID :- 529,
« 2, Option ID :- 530,
. 3, Option ID :- 531,

. 4, Option ID :- 532,
Answer Given:- 1, Option ID : -529

Question ID:- 134

Choose the word nearest in meeuﬁng to the given word.

RELINQUISH
(1) Adopt
(2) Hate

(3) Discard
(4) Frown

Options:-
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.1, Option ID :- 533,
« 2, Option ID :- 534,
. 3, Option ID :- 535,

. 4, Option ID :- 536,
Answer Given:- 2, Option ID : -534

Question ID:- 135

Choose the word nearest in meaning to the given word.
ASSENT

(1) internalise

(2) adopt

(3) welcome

(4) agree

Options:-

.1, Option ID :- 537,
« 2, Option ID :- 538,
« 3, Option ID :- 539,

. 4, Option ID :- 540,
Answer Given:- 4, Option ID : -540

Question ID:- 136

Choose the word opposite in meaning to the given word.
HUMBLE
(1) Confident
(2) Proud
(3) Aggressive
(4) Dominating

Options:-

.1, Option ID :- 541,
« 2, Option ID :- 542,
. 3, Option ID :- 543,

. 4, Option ID :- 544,
Answer Given:- 3, Option ID : -543

Question ID:- 137

Choose the word opposite in meaning to the given word.
THRIFTY

(1) Miserly

(2) Stingy

(3) Extravagant

(4) Generous

Options:-
.1, Option ID :- 545,
« 2, Option ID :- 546,
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« 3, Option ID :- 547,

. 4, Option ID :- 548,
Answer Given:- 3, Option ID : -547

Question ID:- 138

Identify the part of speech of the underlined word.

Smoking is injurious to health.

(1) Adjective
(2) Noun

(3) Verb

(4) Conjunction

Options:-

.1, Option ID :- 549,
« 2, Option ID :- 550,
. 3, Option ID :- 551,

. 4, Option ID :- 552,
Answer Given:- 3, Option ID : -551

Question ID:- 139

Change the following sentence from Active Voice to Passive Voice.

He placed an order for a cup of tea.

(1) An order for a cup of tea has been placed by him.
(2) A cup of tea was ordered by him.

(3) An order for a cup of tea was placed by him.

(4) An order for a cup of tea is placed by him.

Options:-

.1, Option ID :- 553,
« 2, Option ID :- 554,
. 3, Option ID :- 555,

. 4, Option ID :- 556,
Answer Given:- 3, Option ID : -555

Question ID:- 140

Identify the clause of the underlined part of the sentence.

The car that he bought yesterday looks elegant.

(1)  Noun Clause

(2) Adjective Clause
(3) Adverb Clause
(4) Principal Clause

Options:-

.1, Option ID :- 557,
« 2, Option ID :- 558,
. 3, Option ID :- 559,
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. 4, Option ID :- 560,
Answer Given:- 3, Option ID : -559

Subject : MATHS_Q141-Q160_PRT28FEBSH2

Question ID:- 141

In 4650423 sum of place value of 4 is :
(1) 1000400

(2) 1000100

(3) 4000400

(4) 4000100

4650423 ¥ 4 % T 9E 1 A0 ©
(1) 1000400

2) 1000100

(3) 4000400

(4) 4000100
Options:-

.1, Option ID :- 561,
. 2, Option ID :- 562,
. 3, Option ID :- 563,

. 4, Option ID :- 564,
Answer Given:- 3, Option ID : -563

Question ID:- 142

Which of the following statements is wrong ?

(1) An angle whose measure is 9()°, is called right angle.

(
(3) An angle whose measure is 18(°, is called reflex angle.
(

4)  An angle whose measure is less than 9(, is called an acute angle.

Fr=fafed s § @ =F 91 7o § 2

(1) Wk iV TSR 719 gg° 8, HHHIYI FHearrdl ¢ |

(2)  UF I FSga 919 9o0 W I g 1800 | FH €, fu 101 HEww 2
(3) WeR IV TSRAsHT |9 18- &, TRE! iV FHEeAI 2 |

(4) T I TS 7Y gp° | FHH ¥, = HIV FEeld ¢ |

Options:-

.1, Option ID :- 565,

« 2, Option ID :- 566,

. 3, Option ID :- 567,
. 4, Option ID :- 568,

2) An angle whose measure is greater than 9(°and less than 180", is called obtuse angle.
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Answer Given:- 2, Option ID : -566

Question ID:- 143

The perimeter of a rectangular park is 5 km, 474 m. If its length is 1 km 782 m, then its breadth is

(I) 0.955 m
(2) 1.005 m
(3) 0.905 m
(4) 0.950 m

T STFAFRR Ureh %1 9FHEM 5 km 474 m 8 | FG 391 &6 1 km 782 m &, Ol S5 HISE ©

('l) 0.955 m
(2) 1.005 m
(3) 0.905 m
(4)  0.950 m
Options:-

.1, Option ID :- 569,
« 2, Option ID :- 570,
. 3, Option ID :- 571,

« 4, Option ID :- 572,
Answer Given:- 1, Option ID : -569

Question ID:- 144

It is given that a family consumed 38 kg 435 g flour in the month of October, 42 kg 245 g in the
month of November and 29 kg 798 g in the month of December.

Based on above, which one of the following statements is not true ?

(1) Total consumption is 110 kg 478 g,

(2) Difference of highest & lowest consumption is 12 kg 447 g.

(3) Flour consumed in November was 3 kg 810 g more than that of flour consumed in October.
(4) Flour consumed in December is 7 kg 607 g less than that of flour consumed in October.

fen a1 2 for ek uftam A STeeR & 91E H 38 kg 435 g, TAE o HIH H 42 kg 245 g 3R fewrar & A
T 29 kg 798 g 311 =1 IUHAT ot |

o+ R R, Freafafes 9§ 9 @6 o1 % 98 w6 82

(1) & 3R 110 kg 478 g T

(2) TEY 2 IR WEH w9 IR 1 S 12 kg 447 g B

(3) o H IYHIT g ST, PR § IUH U e 3 kg 810 g Afer 71
(4) fTemear § IusirT gon ore, steEt © 30 BT S § 7 kg 607 g FH 1
Options:-

.1, Option ID :- 573,

« 2, Option ID :- 574,
. 3, Option ID :- 575,
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. 4, Option ID :- 576,
Answer Given:- 4, Option ID : -576

Question ID:- 145

Box A measures 20 cm by 5 em by 4 cm and box B measures 16 cm by 5 em by 3 em.
Based on this information, which one of the following statements is correct ?

(1) Box B has greater volume.

(2) Volume of box A and box B are equal.

(3) Difference of volume of box A and box B is 5 cm?®

(4) Box A has greater volume.

fesl A #1 A9 20 cm x 5 cm x 4cm ® 3R f&s9 B 1 91916 cm x5 cm x 3 cm ¥
TH WA & 3R T fAefafed § 9 $F O heF W e ?

(1) fesst B &1 evmr siferar ©1

(2) fes3 A @ir fesd B o A 9umH €

(3) fesd A iR fe=d B & 2ei &1 375 cm3 & |
(4) Tesd A =1 SmEs sifere €1

Options:-

.1, Option ID :- 577,

. 2, Option ID :- 578,

. 3, Option ID :- 579,

. 4, Option ID :- 580,
Answer Given:- 4, Option ID : -580

Question ID:- 146

Using digits 4, 0, 9, 8 form the largest and smallest number of four digits (repetition is not allowed).
Sum of these two numbers is :

(1) 13029
(2) 13929
(3) 10329
(4) 13938

HFI 4, 0,9, 8 F WAF Feh FR h] el Ty TS iR a9 B Fen ( ¢REH &) | & )
FAEY | T SH FEemsd A E

(1) 13029
(2) 13929
(3) 10329
(4) 13938
Options:-

.1, Option ID :- 581,
« 2, Option ID :- 582,
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. 3, Option ID :- 583,

. 4, Option ID :- 584,
Answer Given:- 3, Option ID : -583

Question ID:- 147

In a school, after prayer classes start at 8 : 25 am. If each period is of 35 minutes, then fourth

period will start at :
(1) 10:05am

(2) 9:35am
(3) 10:00 am
(4) 10:10 am

T foemerm § WA % 9vE R 8 : 25 am W URY Bl € | AfE i difars wren 35 el @ §, b

ey diftere grRe g
(1) 10:05 am W
(2) 9:35am™
(3) 10:00 am 9
(4) 10:10 am W

Options:-

.1, Option ID :- 585,

« 2, Option ID :- 586,

. 3, Option ID :- 587,

. 4, Option ID :- 588,
Answer Given:- 4, Option ID : -588

Question ID:- 148

Which of the following fractions is in its lowest terms ?

, B
, 3
(2 186
5
) 156
4
(4) 152
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FEf=id sRd sea SR TR 48 ?

28
D =5
31
2 g
9
3 15
57
@ 15

Options:-

.1, Option ID :- 589,
« 2, Option ID :- 590,
. 3, Option ID :- 591,

. 4, Option ID :- 592,
Answer Given:- 2, Option ID : -590

Question ID:- 149

Choose the odd one out.

O
O
)
20
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fawm =71 918 Fife

(D)

Options:-

.1, Option ID :- 593,
« 2, Option ID :- 594,
. 3, Option ID :- 595,

- 4, Option ID :- 596,
Answer Given:- 3, Option ID : -595

Question ID:- 150

Count the number of rectangles in the given figure.

(1) 8
2 9
(3) 7
(4) 10
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<t T2 STHfa H Sl it WA FI AT FHifeg

() 8
2) 9
3 7
(4) 10
Options:-

.1, Option ID :- 597,
« 2, Option ID :- 598,
. 3, Option ID :- 599,

- 4, Option ID :- 600,
Answer Given:- 3, Option ID : -599

Question ID:- 151

Supriya bought two shirts for I 724.38 per piece and three cardigans for ¥ 936.46 per piece. How
much she has to pay ?

(1) T 4257.04
2) T 4285.34
3) < 4268.24

(
(3)
(4) T 4258.14

gften 7 |1 FHiSl T 724.38 9fd 99 i < § @ifEl siR dF F1ETE T 936.46 T 919 # @ 9 @l 139
e e & 7 2
(1) T 4257.04

(2) T 4285.34
(3) T 4268.24
(4) T 425814
Options:-

.1, Option ID :- 601,
« 2, Option ID :- 602,
« 3, Option ID :- 603,

« 4, Option ID :- 604,
Answer Given:- 4, Option ID : -604

Question ID:- 152
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Which of the following statements is wrong ?
(1) All the faces of a cuboid are identical.
(2) A square pyramid has five faces.

(3) A triangular pyramid has six edges.

(4) A sphere has no vertex and no edge.

frefafed Fo+i § 9, =9 91 o™ 82

(1) T =1 % Gt Fereh T9H 8 € |

(2) UH FHR fufie & o9 %o a4 2
3) U FryeneR fafte % = feaieda €
(4) T Tiret st 1 9 S € &I T &

Options:-

.1, Option ID :- 605,
« 2, Option ID :- 606,
. 3, Option ID :- 607,

. 4, Option ID :- 608,
Answer Given:- 3, Option ID : -607

Question ID:- 153

(1) 50000
(2) 500000
(3) 100000
(4) 1000000

997l 1, 50, 100, 5000, 10000, 2§ 37l &1 :
(1) 50000
(2) 500000
(3) 100000
(4) 1000000
Options:-

.1, Option ID :- 609,
« 2, Option ID :- 610,
« 3, Option ID :- 611,

. 4, Option ID :- 612,
Answer Given:- 2, Option ID : -610

Next number in the series, 1, 50, 100, 5000, 10000, _ ?  is.

Question ID:- 154
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Pappan walks 4 km 812 m in 2 hours. In 5 hours he will travel a distance of :
(1) 11 km 930 m

(2) 12 km 300 m

(3) 12km 30 m

(4) 11 km 630 m

qoud 26 H 4 km 812 m T & | UTF He F A1 H 79 HI M U T
(1) 11 km 930 m

(2) 12 km 300 m
(3) 12km30m
(4) 11 km 630 m

Options:-

.1, Option ID :- 613,
. 2, Option ID :- 614,
. 3, Option ID :- 615,

. 4, Option ID :- 616,
Answer Given:- 3, Option ID : -615

Question ID:- 155

Kunti has 3 buffaloes. On Monday, they gave 9. 488 L, 11.375 L and 12.643 L of milk. She sold
29.250 L milk to her regular customers. Now milk left with her is :

(1) 5.156 L
(2) 3.956 L
(3) 4.250 L
(4) 4256 L

Tl o 9 3 Y 2 | HHER H] IR 9.488 L, 11.375 L 3R 12,643 L 39 a1 397 o197 Frafig ameehi =1
29.250 L g9 9 fean | o1e 56 o 919 g4 €

(1) 5.156 L
(2) 3.956 L
(3) 4.250 L
(4) 4.256 L
Options:-

.1, Option ID :- 617,
« 2, Option ID :- 618,
. 3, Option ID :- 619,

- 4, Option ID :- 620,
Answer Given:- 4, Option ID : -620

Question ID:- 156
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(1)

The least number of five digits which is exactly divisible by 75 is :

10050
10025
10015
10040

g UlE e wt Gad B Gem, s fw 75 § gofaan fasnfsa & o €

10050
10025
10015
10040

Options:-

.1, Option ID :- 621,
. 2, Option ID :- 622,
. 3, Option ID :- 623,

. 4, Option ID :- 624,
Answer Given:- 1, Option ID : -621

Question ID:- 157

Which of the following statements is false ?

(1) To convert dam into dm, you have to multiply by 100.
(2) To convert mL into dL, you have to divide by 100.

(3) To convert hL into L, you have to multiply by 100.

(4) To convert kg into dag, you have to multiply by 10.
FreAfefad ol H 8 F 91 o © 2

(1) dam =l dm ¥ FgeH % T 391 100 § 700 T 2011
(2) mL% dLH e AT 9= 100 9 9FT A1 81

(3) hLI L ¥ sger & et st 100 | o1 &3 |

(4) kgl dag | =Gl % foTU 9110 | 700 AT BT |
Options:-

.1, Option ID :- 625,
« 2, Option ID :- 626,
. 3, Option ID :- 627,

. 4, Option ID :- 628,
Answer Given:- 3, Option ID : -627

Question ID:- 158
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Roman numerals :
CXIX, XCIX, CXXI, CIX and CXX can be written in increasing order as :
(1) XCIX, CIX, CXX, CXIX, CXXI
(2) XCIX, CIX, CXIX, CXXI, CXX
(3) CXXI, CXX, CXIX, CIX, XCIX
(4) XCIX, CIX, CXIX, CXX, CXX]I,
CXIX, XCIX, CXXI, CIX 3TR CXX ! agd %9 H forma =1 g ¢ :
(1) XCIX, CIX, CXX, CXIX, CXXI
) XCIX, CIX, CXIX, CXXI, CXX

(2
(3) CXXI, CXX, CXIX, CIX, XCIX
(4) XCIX, CIX, CXIX, CXX, CXX],

Options:-

.1, Option ID :- 629,
« 2, Option ID :- 630,
. 3, Option ID :- 631,

. 4, Option ID :- 632,
Answer Given:- 1, Option ID : -629

Question ID:- 159

18 A
A hallis 42 m long and its breadth is g of length. It's floor is to be covered with tiles of 50 cm

length and 30 cm breadth. Required number of tiles will be :

(1) 3290
(2) 3620
(3) 3920
(4) 3260

qaagraaﬁaamzm%sﬂzaﬂg@,mﬁéélmrﬁmﬁz@aﬁ—@mawm 50 cm
3R HSE 30 cm & | SAEYTF TEE I HEAT T

(1) 3290
(2) 3620
(3) 3920
(4) 3260
Options:-

.1, Option ID :- 633,
« 2, Option ID :- 634,
« 3, Option ID :- 635,
« 4, Option ID :- 636,
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Answer Given:- 3, Option ID : -635

Question ID:- 160

Monthly budget of a family is shown in the pie chart.
Food Rent

Misc.

Education Entertainment

Savings
If savings of family is ¥ 750, then monthly income is :
(1) ¥ 21000

(2) T 20000
(3) T 12000
(4) T 9000

ek URER 1 A =g O 91 § 39 wehr fea@rn e #

weHm 0 e

TqrE LElEE
EEL]

Ife gfer &t F=a T 750 & &, o1 JifdeE 219 ©

(1) ¥ 21000
(2) ¥ 20000
(3) & 12000
(4) & 9000

Options:-

.1, Option ID :- 637,
« 2, Option ID :- 638,
« 3, Option ID :- 639,

« 4, Option ID :- 640,
Answer Given:- 4, Option ID : -640

Subject : EVS_Q161-Q180_PRT28FEBSH2

Question ID:- 161
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Below are two statements. Choose the correct answer from given options :

Statement (I) : Carbon Dioxide can be stored as a liquid in cylinder at low pressure.

Statement (II) : CO, expands enormously in volume and cools, when released from the cylinder.
(1) Statement (I) and Statement (II) both are true.

(2) Statement (I) and Statement (II) both are false.
(3) Statement (I) is true but Statement (II) is false.
(4) Statement (I) is false but Statement (II) is true.

=1 & e feu u ¥ fou gy famedi 9 @ wE) I 1 = =

HAT - (1) : e g W EE ersiFEe g8 % w9 H fafder § ui S wedt ¥
wmed - () :  fafdst | 81 91 W CO, 9gd w1 Sherd ¢ iR 3t & =it 81
(1) = (1) 3 (1) 2 = €

(2) W (1) 3R (1) S Ted £

(3) A (I) TR € T YA (1) Terd 2 |

(4) A (1) Tord © Tig FF ()T T

Options:-

.1, Option ID :- 641,

. 2, Option ID :- 642,

« 3, Option ID :- 643,

. 4, Option ID :- 644,
Answer Given:- 4, Option ID : -644

Question ID:- 162

Such plastic which can get deformed easily on heating and can be bent easily, are called :
(1) Thermosetting plastic

(2) Thermoplastic

(3) Rayon plastic

(4) Nylon plastic

TE welfeees S TH A W e H foghd 81 S g TR Serryes qg Sl €, o FHed ©
(1) oHEfET wfes

(2) wHTETRE

(3) THA wIfeE®

(4) A iR
Options:-

.1, Option ID :- 645,
« 2, Option ID :- 646,
« 3, Option ID :- 647,
. 4, Option ID :- 648,
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Answer Given:- 1, Option ID : -645

Question ID:- 163

Given below are two statements. One of them is labelled as Assertion (A) and the other as
Reason (R). Choose the correct answer with the help of code given below :

Assertion (A) : Pasteurized milk can be used without boiling,

Reason (R) : Pasteurized milk is free from microorganisms.

(1) (A) and (R) both are true and (R) is the correct explanation of (A).
(2) (A) and (R) both are true but (R) is not the correct explanation of (A).
(3) (A) is true but (R) is false.

(4)  (A) is false but (R) is true.

9 2 Tt fou e E | U A afueRe (A) oI gER 1 T (R) Fel T B | R T e o Her
H el ST H T HL|

ATUSHLH (A) : TeFUFHa g4 I o el game fohan ST Herdn 21
THIOT (R) : W= g8 YeHsial ¥ H 2l 2 |

(1) (A) 3R (R) S & €, 3T (R), (A) T e 0@ & ¢

(2) (A) ¥R (R) FT F& E WY (R), (A) T & =0 TE H@E
(3) (A) ¥& &, T (R) TTe &

(4) (A) e & W (R) WEl €1

Options:-

.1, Option ID :- 649,

« 2, Option ID :- 650,

. 3, Option ID :- 651,

. 4, Option ID :- 652,
Answer Given:- 1, Option ID : -649

Question ID:- 164

Which of the following statements are true about Lactobacillus Bacteria ?

(A) Curd contains several microorganism and Lactobacillus is important among them.
(B) Bacteria namely Lactobacillus converts milk into curd.

(C) Lactobacillus Bacteria multiplies in milk and converts it into curd.

(D) Lactobacillus Bacteria can be seen through the naked eyes.

(I) Only (A) and ( )

(2)  Only (B) an

(3) Onlv (A), (C "md (D)
(4) y (A), (B )ﬂnﬂ'l ©)
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Frefafad wuEl # 9 &0 ceesiged T Siany & H@ed § e €7

& T s gawrsiig I o § o e iEers viE 2

eI et AT SiaTy] ¥ @i gl B ufafdd 2 < # )

TR HeT AT a3y H S Y S 98l § ufiafdd # 3d T
RS ged % ST &1 T SIREl ¥ 3@ S ghdT |

I (A) &R (D)
Fael (B) 9N (C)

Fal (A), (C) # (D)
44 (A), (B) ¥R (C)

Options:-

.1, Option ID :- 653,
« 2, Option ID :- 654,
« 3, Option ID :- 655,

« 4, Option ID :- 656,
Answer Given:- 4, Option ID : -656

Question ID:- 165

Which of the following, statements are true in the context of irrigation ?

frefafaa ®woe d 9 f59E & ddy 5 &[98l € ?

Fafea oferdl W @d § 5/ o1 fH=E wgam g

= =1 9o wEel S g & SER - g g
et B e 1 SaRa eengd 9 adl g1

=g 1 SIRARAT W g3 Hl hlE GG TE IS 2

Options:-
.1, Option ID :- 657,

(A) Supplying water in the fields at regular time and intervals is called irrigation.
(B) Time of irrigation varies as per the nature of crops.

(C) The frequency of watering is comparatively low in summers.

(D) The seasons don’t influence the frequency of irrigation.

(1) Onlv (A) and (

(2) Only (A) and (

(3) (A)()ﬂnd()

(4) OlﬂY (A) and (B)

@ Teachingninja.in



« 2, Option ID :- 658,
« 3, Option ID :- 659,

« 4, Option ID :- 660,
Answer Given:- 4, Option ID : -660

Question ID:- 166

Which of the following is true about crop rotation ?
(A) Crop rotation is done by growing different kinds of crop alternately.
(B) Crop rotation helps in the replenishment of the soil with nitrogen.

(C) Earlier, farmers in northern India used to grow legumes as fodder in one season and wheat
in the next season.

(D) Crop rotation has reduced the production as well as the fertility of soil has also reduced.
(1) Onlv (A) and (B)

(2) y (A) and (D)

(3) y (A) and(C)

(4) Only (A), (B) and (C)

g Th % He T T 1 HYT TEl E 2

(A) T TR Uk el o oG ©d H gH fHa & HEA UHial %H H 3 1 fRar Sar €

(B) wgel =k & gt § Ao o A 2 B

(C) Ued, 3T 9RA § foFaM wHet <501 & 90 hellek =1 U g | 3T 9 991 8 95 g
(D) wge Y Y Ygar o wel € € o iy € ey fagt o) s § off e ong ¥

(1) kel (A) 3R (B)
(2) EE (A) I (D)
(3) A (A) FR (C)
(4) e (A), (B) 3R (C)

Options:-

.1, Option ID :- 661,
. 2, Option ID :- 662,
« 3, Option ID :- 663,

« 4, Option ID :- 664,
Answer Given:- 4, Option ID : -664

Question ID:- 167

During heavy exercise, we get cramps in the leg due to the accumulation of :
(1) Carbon dioxide

( Lactic acid
(3) Alcohol
(4) Water
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FAITY ST T T9Y B9 2 | o v F gumm g UsA el €, ae B

(1) FTeA SRS
(2) difRes e
(3) UeEhIEl
(4)
Options:-

.1, Option ID :- 665,
« 2, Option ID :- 666,
. 3, Option ID :- 667,

- 4, Option ID :- 668,
Answer Given:- 2, Option ID : -666

Question ID:- 168

Suppose you are stuck in a storm accompanied by lightening. which of the following places will
be the most suitable for you to take shelter ?

(1) Big trees

2) Small trees

3) Open storage shed

(
(
(4) Windows of buildings.

gl e T 319 U 3ien § T E ferwd fasedt o fr @ 71 e F 3 - e ages fore engg o
* fere Ty Sgas @ 2

) FuST

2) BRUS

Options:-

.1, Option ID :- 669,
« 2, Option ID :- 670,
. 3, Option ID :- 671,

. 4, Option ID :- 672,
Answer Given:- 3, Option ID : -671

Question ID:- 169
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Given below are two statements. One of them is labelled as Assertion (A) and the other is labelled
as Reason (R). Choose the correct answer with the help of code given below :

Assertion (A) : Polar Bears walk fast.
Reason (R) : Polar Bears have thick fur.

1) (A) and (R) both are true and (R) is the correct explanation of (A).
2)  (A) and (R) both are true but (R) is not the correct explanation of (A).
3)  (A) is true but (R) is false.

(
(
(
(4)  (A) is false but (R) is true.

9 2 TRt fou e E | U A AR (A) 3T gE F RROT (R) Fel T B | S T e i Her
H el ST H T HL|

TR (A) : YT W6 O Ford 2 |

WHOT (R) : YT 6] & =ed 112 81 2 |

(1) (A) 37 (R) =i =& €, 3R (R), (A) FT e 0@ w1 E
(2) (A) ¥R (R) SF W& T, TG (R), (A) I TE A TE HEE |
(3) (A) WEl &, T (R) T B

(4) (A) TeTd &, W (R) Wel 1

Options:-

.1, Option ID :- 673,

. 2, Option ID :- 674,

. 3, Option ID :- 675,

. 4, Option ID :- 676,
Answer Given:- 4, Option ID : -676

Question ID:- 170

Choose the correct equation :

(1) Alimentary canal + Associated glands = Digestive system.
2) Digestive system + Associated gland = Alimentary Canal.
3) Digestive sytem + Alimentary canal = Associated gland.

(
(
(

4)  Digestive sytem = Alimentary canal = Associated gland.

et FHIHTOT 1 A HL |

(1) SRR el + " ufe = qred a3
(2) TR T + WErHh el = SRR el
(3) UEH 95 + SRR el = e HiuH
(4) U T = SRR el = e Ui
Options:-

.1, Option ID :- 677,

« 2, Option ID :- 678,
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. 3, Option ID :- 679,

. 4, Option ID :- 680,
Answer Given:- 1, Option ID : -677

Question ID:- 171

Below are a few statements related to the Right to Forest Act. Choose the correct answer with the
help of given codes :

(A) This act was passed in the year 2009.

(B) According to this act, people who have been living in the forest for atleast 50 years, have a
right over the forest land.

(C) The work of protecting the forest is done by their Gram Sabha.

(1)  Only (A)
(2) Only (B)
(3)  Only (O)
(4) (A)and (B)

= ST SR FEA € IS F9 A U T R ) U g FE w6 gerdt § Hel S g
(A) I8 HEA 2009 H wiftd foam

(B) T A & AIUR, S AR %H W FH 50 e T S H Ted € 3T STe &l THH WEF T
(C) STTet S 3T T AT T % Bl & |

e

(1) e (A)
(2) 9 (B)
(3) e (C

)
(@) (A) =R (B)

Options:-

.1, Option ID :- 681,
« 2, Option ID :- 682,
. 3, Option ID :- 683,

. 4, Option ID :- 684,
Answer Given:- 2, Option ID : -682

Question ID:- 172

Given below are two statements. One of them is labelled as Assertion (A) and the other as
Reason (R). Choose the correct answer with the help of code given below :

Assertion (A) : People experience the pull of the Earth even in a spaceship.
Reason (R) : The spaceship revolves around the Earth.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3)  (A) is true but (R) is false.

(4) (A) is false but (R) is true.
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19 & geaeg fau U § 1w i R (A) R gEY 1 RINUT (R) @ T € | e e e i Her
H WE ST T B

IR (A) : & T sTaftet aF ¥ ot 9=t % fg=re 1 7egd F €
HIOT (R) : 3fafet 7 geat & 9ri iR goar €1

(1) (A) ¥R (R) g 9&l €, 3R (R), (A) T H&l =00 F ¢ |

(2) (A) ¥R (R) SH ®ET §, T (R), (A) T Hel =me & & 7
(3) (A) ¥&l &, T (R) TTeW ¢

(4) (A) 7T & W (R) HEl B

Options:-

.1, Option ID :- 685,

« 2, Option ID :- 686,

. 3, Option ID :- 687,

. 4, Option ID :- 688,
Answer Given:- 1, Option ID : -685

Question ID:- 173

I can make snakes dance by playing the ‘been’. Ihave learnt this art from my community members.
These people/members are called

(1) Duboia
(2) Afai

(3) Kalbeliyas
(4) Hunters

T Tl 1 ST S T WA HeR § | T8 el B ST @l o HiE ¥ ) R e

FEd Bl

(1)
2
3)

gellga
3TTHTE
EIREIGRI
4)  Torprd

(
(
Options:-

.1, Option ID :- 689,
« 2, Option ID :- 690,
« 3, Option ID :- 691,

. 4, Option ID :- 692,
Answer Given:- 3, Option ID : -691

Question ID:- 174
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A treeis found in Australia. It has very few leaves. Its roots go deep into the ground till they reach
water. This water is stored in the tree trunk. When there is no water in the area of this plant, the
people of that area put a thin pipe into the trunk of the tree and take out the water. What is this
plant known as ?

(1) Desert Oak

( Pine
(3) Cedar
(4) Cactus

sl o we g S © | o ufeat 9gd € 9 o S € |30t 9 96 § el S € St9 0w
I T 7 U5 STU | 208 U1 U o T | W91 211 181 § | 576 Rt 59 Wi 9t Seeh § 9 e ot of 9@l &
AR 39% T & 1S gdel UEY SereRl T feRTe efd 9 1 = e fE A | S S 8 2

(1) et sies

(2 e

(3) TEER

(4)  TETEHA
Options:-

.1, Option ID :- 693,
« 2, Option ID :- 694,
. 3, Option ID :- 695,

. 4, Option ID :- 696,
Answer Given:- 1, Option ID : -693

Question ID:- 175

Some flowers are also used as vegetables, choose the correct option from the following :
(A) Kachnar flower

( Sahjan flower

(C) Banana flower

(D) Refflesia flower

(1) (A)and (B)
(2)  (B)and (C)
(3)  (A) (B) and (C)
(4)  (A), (B) and (D)
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% el o1 FA HissEl o w9 H 2 g, Frefafan d | w@@t o ol

(1) AR F
(2) HESH A
(3) el F T
(4)  TORATI T e
(1)  (A) 3R (B)

(2) (B) ¥R (O

(3) (A), (B) ¥R (©)
(4)  (A), (B) X (D)
Options:-

.1, Option ID :- 697,
« 2, Option ID :- 698,
« 3, Option ID :- 699,

. 4, Option ID :- 700,
Answer Given:- 3, Option ID : -699

Question ID:- 176

Arrange the following in the correct sequence with the help of code :

(A) After a lot of effort and thinking, people learnt to make pots.

(B) People also discovered that clay pots could be made stronger by baking them in fire.
(C) They (people) started feeling the need to store and cook food.

(D) Many-many years ago, there was a time when people had no pots.

Code :

(1) D), (A), (©), (B)
(2) (D), (O, (A), (B)
(3) (D), (B). (O), (A)
(4) (D), (A), (B), (©)

Frefafed =1 %2 1 7eg ¥ W&l %9 H To

(A) FEd RIIW F IR AR T o 9E, AN A S g T

(B) @r A ¥g ot @ fern for fagt & sedei o1 weeg a9 & faq 3% o1 8§ yesrn =nfeu |
(C) T sl WH-TH =t =il i Yo SR AW W@ % forg adT =i sd ged o |
(

4
4
E
3
g
§
3
:
P
£}
8
3
:
4

P T e W e T e S
& B ELE

Options:-
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.1, Option ID :- 701,
« 2, Option ID :- 702,
. 3, Option ID :- 703,

- 4, Option ID :- 704,
Answer Given:- 2, Option ID : -702

Question ID:- 177

You have gone to travel to a place where sea fish made in the coconut oil is being served to you.
Tell the place where you have gone to travel ?

(1) West Bengal

(2) Goa

(3) Manipur
(

4)  Mizoram

1Y Uk TH SATe T TS § Sl ST TIfEe 96 § o) g3 FHe F Huel T T | ST o R s
A T € 2

(1) 9fe=d S

(2) e

(3) Afrg

(4) THsiH
Options:-

.1, Option ID :- 705,
« 2, Option ID :- 706,
. 3, Option ID :- 707,

. 4, Option ID :- 708,
Answer Given:- 2, Option ID : -706

Question ID:- 178

Below are two statements. Choose the correct answer from given options.

Statement (I) : Children should be encouraged to make friends with a tree i.e. water it, look after
it and observe it minutely.

Statement (II) : If the children are encouraged to make friends with a tree, children will develop
a concern for the environment.

1) Statement (I) and Statement (II) both are true.
2) Statement (I) and Statement (II) both are false.
3) Statement (I) is true but Statement (II) is false.
4)  Statement (I) is false but Statement (II) is true.

e

(
(
(
(
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= g1 e fau e ) feu ge fasedl 9 § 96 3 &1 =99 #l:

HIA - (I) : T &l fordl T U H fva gAF (31id 39 gFl S, SHehl S@YTE AT, 39! arisht

F e anfe) & forw fia foren s =nfem)

®UT - (1) : = o Tohdl Uk U 9 fuar 99 o fou U o9 § 93iaer & i =i o1 o <6 |

(1) e (1) 3R (1) <1 =& £

(2) U (1) AR (1) ST TeoAd F
(3) e (I) T& & W A (1) Tord 2
(4) HYA () Tad & Wy HUA (1) T8 2|

Options:-

.1, Option ID :- 709,
« 2, Option ID :- 710,
. 3, Option ID :- 711,

. 4, Option ID :- 712,
Answer Given:- 3, Option ID : -711

Question ID:- 179

Which of the following solution is used to check “starch” in food products ?
(I) Castic Soda

(2) Copper Sulphate
(3) Todine

(4) Water

are verEf § ‘His’ & vl % fau e famam = vdm fra s & 2

(1) ifEes drel
(2) I Hehe
(3) emAfeT
(4) =

Options:-

.1, Option ID :- 713,
. 2, Option ID :- 714,
. 3, Option ID :- 715,

. 4, Option ID :- 716,
Answer Given:- 3, Option ID : -715

Question ID:- 180
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Below are two statements. Choose the correct answer from given options :

Statement (I) : At sufficent heights, the air becomes so cool that the water vapour present in it
condenses to form tiny drops of water called droplets.

Statement (II) : Tiny droplets, that remain floating in the air, appear to us as clouds.
(1) Statement (I) and Statement (II) both are true.
(2) Statement (I) and Statement (II) both are false.
(3) Statement (I) is true but Statement (II) is false.
(4) Statement (I) is false but Statement (II) is true.

91 & e feu e ¥ fou gu faemedl § | Tt W o 99 A

HIT - (1) : A e R A sa SE1 A St § TR gud sufiud Sierarsy defa S Se-se se
=1 9ai, fore Sfererforen @=d &, § aftafdd & s 2

WU - (II) : BT STAKUERTE, ST a0 B St et €, 2 T & w9 Y T < €

(1) e (1) 3ir (1) < =& 2

(2) e (1) iR (1) S TTed §
(3) e (I) Tl & g YA (1) e ¢ |
(4) YA (1) T4 § T HA (I0) Tl 2

Options:-

.1, Option ID :- 717,
« 2, Option ID :- 718,
. 3, Option ID :- 719,

« 4, Option ID :- 720,
Answer Given:- 1, Option ID : -717

Print ResponseSheet
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